
CHEMISTRY

BOOKS - MODERN PUBLICATION

METALS AND NON-METALS

Example

1. Which of the following element has maximum electron 

gain enthapy(negative)?
 ,
 ,
 ,
 .

Watch Video Solution

F Cl Br I

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_omjU4yYl29j1


2. Which of the following element has maximum electron 

gain enthapy(negative)?
 ,
 ,
 ,
 .

Watch Video Solution

F Cl Br I

3. Which of the following element has maximum electron 

gain enthapy(negative)?
 ,
 ,
 ,
 .

Watch Video Solution

F Cl Br I

4. The electronic configuration of some elements are

given below:

https://dl.doubtnut.com/l/_HnJ4V8YLJs6J
https://dl.doubtnut.com/l/_W3OdSIVLOrkY
https://dl.doubtnut.com/l/_kKGoObboiR5f





Which of these are metals?

Watch Video Solution

5. Balance the following equation : Na + O2 → Na2O

Watch Video Solution

6. Complete and balance the following equtions:

Na2O + H2O →

https://dl.doubtnut.com/l/_kKGoObboiR5f
https://dl.doubtnut.com/l/_Rmu2WHjZjljN
https://dl.doubtnut.com/l/_qFDd1iprirCi


Watch Video Solution

7. Complete and balance the following equtions:

Watch Video Solution

Cu + HCl →

8. Consider the following reactions: 

 


With reference to the above reaction which one of the

following is correct statement:

Watch Video Solution

Zn(s) + cu2 + (aq) → Zn2 + (aq) + Cu(s)

https://dl.doubtnut.com/l/_qFDd1iprirCi
https://dl.doubtnut.com/l/_pNK50cN8G5rq
https://dl.doubtnut.com/l/_ZOt6cvNm8Aoh


9. Which of the following displacement reaction cannot

accur?

 


 


 


 


Watch Video Solution

CuSO4 ( aq ) + Fe → FeSO4 ( aq ) + Cu

FeSO4 ( aq ) + Zn → ZnSO4 ( aq ) + Fe

Zn → ZnSO4 ( aq ) + Pb → PbSO4 ( aq ) + Zn

2AgNO3 ( aq ) + Cu → Cu(NO3)2 + 2Ag

MgSO4 ( aq ) + Cu → CuSO4 + Mg

10. A,B and C are three elements which undergo chemical

changes according to following equations:


A2O3 + 2B → B2O3 + 2A

3CuSO4 + 2B → B2(SO4)3 + 3C

https://dl.doubtnut.com/l/_X14JyBXXUQ1q
https://dl.doubtnut.com/l/_bRmVfyW7TEfU





Which of these is least reactive.

Watch Video Solution

3CO + 2A → A2O3 + 3C

11. A,B and C are three elements which undergo chemical

changes according to following equations:







Which of these is least reactive.

Watch Video Solution

A2O3 + 2B → B2O3 + 2A

3CuSO4 + 2B → B2(SO4)3 + 3C

3CO + 2A → A2O3 + 3C

https://dl.doubtnut.com/l/_bRmVfyW7TEfU
https://dl.doubtnut.com/l/_ZBBqNXxc5Car


12. A,B and C are three elements which undergo chemical

changes according to following equations:







Which of these is least reactive.

Watch Video Solution

A2O3 + 2B → B2O3 + 2A

3CuSO4 + 2B → B2(SO4)3 + 3C

3CO + 2A → A2O3 + 3C

13.  


 br> On the basis of the

above reactions, indicate which is the most reactive and

which is the least reactive metal out of zinc , copper and

iron?

CuSO4 + Fe → FeSO4 + Cu

feSO4 + Zn → ZnSO4 + Fe

https://dl.doubtnut.com/l/_CO2cLiqrJ1cf
https://dl.doubtnut.com/l/_F3ZMSikbX2Yp


Watch Video Solution

14. Give one example of metal which is liquid at room

temperature

Watch Video Solution

15. Give an example of a metal which can be easily cut with

a knife.

Watch Video Solution

16. Name a metal which is best conductor of heat.

Watch Video Solution

https://dl.doubtnut.com/l/_F3ZMSikbX2Yp
https://dl.doubtnut.com/l/_zc7o91CrpZxZ
https://dl.doubtnut.com/l/_ef7iX6XALjWf
https://dl.doubtnut.com/l/_Gucxl3n7X0FO


17. Give an example of a metal which: is a poor conductor

of heat

Watch Video Solution

18. Give an example of a metal which

used in electrical appliances.

Watch Video Solution

19. Give an example of a metal which

combines with oxygen at room temperature.

Watch Video Solution

https://dl.doubtnut.com/l/_Gucxl3n7X0FO
https://dl.doubtnut.com/l/_v0ZDzaPc2BOd
https://dl.doubtnut.com/l/_SzC3KyjN1Q98
https://dl.doubtnut.com/l/_nkBPohPpAvIG


20. Write equation for the reactions of : 

iron with steam

Watch Video Solution

21. Write equations for the reactions of :calcium and

potassium with water.

Watch Video Solution

22. Write equations for the reactions of :calcium and

potassium with water.

Watch Video Solution

https://dl.doubtnut.com/l/_nkBPohPpAvIG
https://dl.doubtnut.com/l/_kS3tutvtCrWB
https://dl.doubtnut.com/l/_Z7qs6ZpsKMKa
https://dl.doubtnut.com/l/_N7Rwmsvy1S22


Watch Video Solution

23. Name two metals which will displace hydrogen from

dilute acids, and two metals which will not

Watch Video Solution

24. The substances which allow the passage of electricity

through them…..

Watch Video Solution

25. Name a metal which can melt even in your hand. To

which group of the periodic table does it belong?

W h Vid S l i

https://dl.doubtnut.com/l/_N7Rwmsvy1S22
https://dl.doubtnut.com/l/_XQHK9HWbvr4j
https://dl.doubtnut.com/l/_q9vZ0upykqw9
https://dl.doubtnut.com/l/_O7bMandPNK7L


Watch Video Solution

26. Name any two neutral oxides.

Watch Video Solution

27. Name one non-metal and one metal which are in liquid

state at room temperature.

Watch Video Solution

28. What type of oxides are formed when non-metals

combine with oxygen?

Watch Video Solution

https://dl.doubtnut.com/l/_O7bMandPNK7L
https://dl.doubtnut.com/l/_5oXGBxYOTtkV
https://dl.doubtnut.com/l/_QzjphfpT5lkh
https://dl.doubtnut.com/l/_FCyKjwPWi38P


29. What are strategic metals? Give one example also.

Watch Video Solution

30. State the reason for the following behaviour of zinc

metal:

On placing a piece of zinc metal in a solution of mercuric

chloride it acquires a shining silvery surface but when it is

placed in a solution of magnesium sulphate no change is

observed.

Watch Video Solution

https://dl.doubtnut.com/l/_FCyKjwPWi38P
https://dl.doubtnut.com/l/_dOSt4OQ1wdUJ
https://dl.doubtnut.com/l/_WCsn9Hx9mjLH


31. What are amphoteric oxides? give two examples of

amphoteric oxides?

Watch Video Solution

32. When a strip of copper is placed in the solution of

silver nitrate, the solution become blue. Why ?

Watch Video Solution

33. When a strip of copper is placed in the solution of

silver nitrate, the solution become blue. Why ?

Watch Video Solution

https://dl.doubtnut.com/l/_JG05DlFnXtiJ
https://dl.doubtnut.com/l/_UUWieClybcY3
https://dl.doubtnut.com/l/_kzIvgz7giMjF


34. Write the electron dot structure for sodium and

chlorine atoms. How do these form a chemical bond?

Name the type of bond so formed. Why does compound

so formed has high melting point?

Watch Video Solution

35. Show formation of  and MgO by transfer of

electrons.

Watch Video Solution

K2O

36. Name the solvent in which ionic compounds are

generally soluble.

https://dl.doubtnut.com/l/_SBAOE3XSfnfr
https://dl.doubtnut.com/l/_3VrdgB3kSruz
https://dl.doubtnut.com/l/_urey4Y7o79ni


Watch Video Solution

37. Why are aqueous solutions of ionic compounds able to

conduct electricity?

Watch Video Solution

38. Name two metals which are found in nature the free

state.

Watch Video Solution

39. Name an oxide ore of a aluminium and carbonate ore

of zinc.

https://dl.doubtnut.com/l/_urey4Y7o79ni
https://dl.doubtnut.com/l/_YJhxJmtIr0qX
https://dl.doubtnut.com/l/_rhCdHmkum8KN
https://dl.doubtnut.com/l/_M5ix1fdnJg7I


Watch Video Solution

40. Explain, why carbon can reduce copper but not

calcium oxide to calcium?

Watch Video Solution

41. Write one consituent of each of brass and bronze that

is not common to both.

Watch Video Solution

42. What would happen to iron railings on the roadside if

they are not painted? Why does it happen so?

https://dl.doubtnut.com/l/_M5ix1fdnJg7I
https://dl.doubtnut.com/l/_0KmJLzIkDGh8
https://dl.doubtnut.com/l/_fFGpVb9x3FUk
https://dl.doubtnut.com/l/_xW4DOTiT4sRT


Watch Video Solution

43. Explain the following : Why is the tungsten used

almost exclusively for filament of electric lamps?

Watch Video Solution

44. Most jewellery is made of 22 carat gold. What is the

percentage of gold in it?

Watch Video Solution

45. Why is iron more useful when it is mixed with a little

carbon?

https://dl.doubtnut.com/l/_xW4DOTiT4sRT
https://dl.doubtnut.com/l/_GsBDbVfWIj4Q
https://dl.doubtnut.com/l/_E3EUI0E73KP0
https://dl.doubtnut.com/l/_jijTZW8rrLU3


Watch Video Solution

46. Explain why surface of some metals acquired a dull

appearance when exposed to air for a long time.

Watch Video Solution

47. Alloys are used in electrical heating devices rather

than pure metals. Give one reason.

Watch Video Solution

48. A metal M occurs in the earth's crusts as its oxide. An

alloy of this metal is used in making air crafts.

https://dl.doubtnut.com/l/_jijTZW8rrLU3
https://dl.doubtnut.com/l/_XuXikCTsUled
https://dl.doubtnut.com/l/_ctqLbXwct0jG
https://dl.doubtnut.com/l/_ZXloJFBd0mHt


Name the metal.

Watch Video Solution

49. A metal M occurs in the earth's crusts as its oxide. An

alloy of this metal is used in making air crafts.

Name the metal.

Watch Video Solution

50. A metal M occurs in the earth's crusts as its oxide. An

alloy of this metal is used in making air crafts.

Name the metal.

Watch Video Solution

https://dl.doubtnut.com/l/_ZXloJFBd0mHt
https://dl.doubtnut.com/l/_ExFP5CrLOeSj
https://dl.doubtnut.com/l/_4Tid7K7sceMQ


51. Name a reducing agent that may be used to obtain

manganese from manganese dioxide.

Watch Video Solution

52. Give one example of metal which is liquid at room

temperature

Watch Video Solution

53. Give an example of a metal which can be easily cut

with a knife.

Watch Video Solution

https://dl.doubtnut.com/l/_94hYOWkEtcMT
https://dl.doubtnut.com/l/_VyMAzLItkJpI
https://dl.doubtnut.com/l/_v5H0B7mQndYF


54. Name a metal which is best conductor of heat.

Watch Video Solution

55. Give an example of a metal which: is a poor conductor

of heat

Watch Video Solution

56. Explain the meaning of malleable and ductile

Watch Video Solution

https://dl.doubtnut.com/l/_Mv7aEWjdwnro
https://dl.doubtnut.com/l/_b8kmPKYjEmyD
https://dl.doubtnut.com/l/_AMj3ZStlQAXx


57. Why is sodium kept immersed in kerosene oil?

Watch Video Solution

58. Write equation for the reactions of : 

iron with steam

Watch Video Solution

59. Write equations for the reactions of :calcium and

potassium with water.

Watch Video Solution

https://dl.doubtnut.com/l/_ZkCGIFn2vK6g
https://dl.doubtnut.com/l/_mw5j6rFdNUmD
https://dl.doubtnut.com/l/_DX5GxZVmTzV7
https://dl.doubtnut.com/l/_hkR5W4qNSXzK


60. Which gas is produced when dilute hydrochloric acid

is added to a reactive metal ? Write thè chemical reaction

when iron reacts with dilute .

Watch Video Solution

H2SO4

61. What would you observe when zinc is added to a

solution of iron sulphate? Write the chemical reaction

that takes place.

Watch Video Solution

62. Write the electron-dot structures for sodium, Oxygen

and magnesium.

Watch Video Solution

https://dl.doubtnut.com/l/_hkR5W4qNSXzK
https://dl.doubtnut.com/l/_OxnCIAS4d1sB
https://dl.doubtnut.com/l/_0eTXCDpWzNFr


Watch Video Solution

63. Show the formation of  and  by the

transfer of electrons.

Watch Video Solution

Na2O MgO

64. NaCl , MgO What are the ions present in these

compounds ?

Watch Video Solution

65. Why do ionic compounds have high melting points?

Watch Video Solution

https://dl.doubtnut.com/l/_0eTXCDpWzNFr
https://dl.doubtnut.com/l/_3WdAQZNxIoxF
https://dl.doubtnut.com/l/_op8LmjheNC6j
https://dl.doubtnut.com/l/_WFrsWk8wUjJR


66. Define the terms: mineral

Watch Video Solution

67. Define the terms: ore

Watch Video Solution

68. Define the term. 

Gangue

Watch Video Solution

https://dl.doubtnut.com/l/_WFrsWk8wUjJR
https://dl.doubtnut.com/l/_Q8GHH5lb58JU
https://dl.doubtnut.com/l/_qTCEZVgh3hQT
https://dl.doubtnut.com/l/_hMOVpbcSqTmg


69. Name two metals which are found in nature the free

state.

Watch Video Solution

70. What chemical process is used for obtaining a metal

from its oxide?

Watch Video Solution

71. Fill in the blanks: 

Watch Video Solution

https://dl.doubtnut.com/l/_Kzh6i4EtTCZu
https://dl.doubtnut.com/l/_7PyZVusGIIQp
https://dl.doubtnut.com/l/_hQ5HpWOSK1fd


72. Which metals do not corrode easily?

Watch Video Solution

73. What are alloys?

Watch Video Solution

74. Samples of four metals A,B,C and D were taken and

added to the following solution one by one. The results

obtained have been tabulated as follows. 

https://dl.doubtnut.com/l/_hQ5HpWOSK1fd
https://dl.doubtnut.com/l/_vEmCW9An6ExN
https://dl.doubtnut.com/l/_1Mn8AxSuZjkZ
https://dl.doubtnut.com/l/_N6RSulBNR6fp


 

Use the table above to answer the question about metals

A, B, C 

and D: Which is the most reactive metal ?

Watch Video Solution

75. Samples of four metals A,B,C and D were taken and

added to the following solution one by one. The results

obtained have been tabulated as follows. 

https://dl.doubtnut.com/l/_N6RSulBNR6fp
https://dl.doubtnut.com/l/_UbZa77VuK9i6


 

Use the table above to answer the question about metals

A, B, C 

and D: Which is the most reactive metal ?

Watch Video Solution

76. Samples of four metals A,B,C and D were taken and

added to the following solution one by one. The results

obtained have been tabulated as follows. 

https://dl.doubtnut.com/l/_UbZa77VuK9i6
https://dl.doubtnut.com/l/_rBfWmfRuA5tV


 

Use the table above to answer the question about metals

A, B, C 

and D: Which is the most reactive metal ?

Watch Video Solution

77. Which of the following pairs will give displacement

reactions:

A. NaCl solution are copper metal

B.  solutoin and a aluminium metalMgCl2

https://dl.doubtnut.com/l/_rBfWmfRuA5tV
https://dl.doubtnut.com/l/_Dy3dcdIk0wQd


C.  solution and silver metal.

D.  soluton and copper metal

Answer:

Watch Video Solution

FeSO4

AgNO3

78. Which of the following methods is suitable for

preventing an iron frying pan from rusting:

A. Applying grease

B. Applying paint

C. Applying a coating of zinc

D. All of the above

https://dl.doubtnut.com/l/_Dy3dcdIk0wQd
https://dl.doubtnut.com/l/_zS30jbpMtxv2


Answer:

Watch Video Solution

79. An element reacts with oxygen to give a compound

with a high melting point.This compound is also solutble

in water.the element is likely to be:

A. calcium

B. carbon

C. silicon

D. iron

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_zS30jbpMtxv2
https://dl.doubtnut.com/l/_GKsmXW95OR6M


Watch Video Solution

80. Food cans are coated with tin and not with zinc

because:

A. zinc is costiler than tin

B. zinc has higher melting point than tin

C. zinc is more reactive than tin

D. zinc is less reactive than tin.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_GKsmXW95OR6M
https://dl.doubtnut.com/l/_sE7mTbAiWsTA


81. You are given a hammer, a battery, a bulb ,wires and a

switch How could you use them distinguish between

samples of metals and non-metals?

Watch Video Solution

82. You are given a hammer, a battery, a bulb ,wires and a

switch How could you use them distinguish between

samples of metals and non-metals?

Watch Video Solution

83. What are amphoteric oxides? give two examples of

amphoteric oxides?

https://dl.doubtnut.com/l/_hx0p1Wr0dtcY
https://dl.doubtnut.com/l/_D6MWS2fc9hsl
https://dl.doubtnut.com/l/_l1JTyqwj6ai8


Watch Video Solution

84. Name two metals which will displace hydrogen from

dilute acids, and two metals which will not

Watch Video Solution

85. In the electrolytic refining a metal M what would you

take as the anode, cathode and electrolyte?

Watch Video Solution

86. Pratyush took sulphur powder on a spatula and

heated it. he collected the gas evolved by inverting a test

https://dl.doubtnut.com/l/_l1JTyqwj6ai8
https://dl.doubtnut.com/l/_a4ziZIoHDnwn
https://dl.doubtnut.com/l/_YZpRnF2xlnUX
https://dl.doubtnut.com/l/_Db6tWFM7tgNY


tube over it as shown in figure.

what will be the action of gas on.

dry litmus paper.

Watch Video Solution

87. Pratyush took sulphur powder on a spatula and heated

it. he collected the gas evolved by inverting a test tube

over it as shown in figure.

what is action of gas on moist litmus paper.

write a balanced chemical equation for the reaction

taking place

Watch Video Solution

https://dl.doubtnut.com/l/_Db6tWFM7tgNY
https://dl.doubtnut.com/l/_waecVPcorwMU


88. Pratyush took sulphur powder on a spatula and

heated it. He collected the gas evolved by invent a test

tube over it, as shown in the figure below: 

 


Write a balanced chemical equation for reaction taking

place.

Watch Video Solution

https://dl.doubtnut.com/l/_rfKsO6xhSfZh


89. State two ways to prevent the rusting of iron

Watch Video Solution

90. What type of oxides are formed when non-metals

combine with oxygen?

Watch Video Solution

91. Give reasons:Platinum,gold and silver are used to make

jewellery

Watch Video Solution

https://dl.doubtnut.com/l/_rfKsO6xhSfZh
https://dl.doubtnut.com/l/_IBojvHLc9Vaa
https://dl.doubtnut.com/l/_g2ySPWiIccIV
https://dl.doubtnut.com/l/_mkWLQRg1uilk


92. Give reasons: sodium,potassium and lithium are

stored under oil.

Watch Video Solution

93. Give reasons: aluminium is highly reactive metal, yet it

is used to make utnesils for cooking.

Watch Video Solution

94. Give reasons: Carbonate and suphide ores are usually

converted into oxides during the process of extraction

Watch Video Solution

https://dl.doubtnut.com/l/_CuTeC2VUZYN3
https://dl.doubtnut.com/l/_3rIwoZiaWUDq
https://dl.doubtnut.com/l/_LkebEUnELU0e


95. You must have seen trainshed copper vessels being

cleaned with lemon or tamarind juice. explain why these

sour substances are effective in cleaning the vessels.

Watch Video Solution

96. Differentiate between metals and non-metals on the

basis of their chemical properties

Watch Video Solution

97. A man went door to door posing as a goldmith he

promised to bring back the glitter of old and dull gold

oranments an unsuspecting lady gave a set of gold

https://dl.doubtnut.com/l/_7FTFrEF0TAHi
https://dl.doubtnut.com/l/_K9a15zhV45uy
https://dl.doubtnut.com/l/_GF4p4dkvOVBp


bangles to him which he dipped in a particular solution

the bangles sparkled like new but their weight was

reduced drastically the lady was upset but after a futile

argument the man beat a hasty retreat can you play the

detective to find out the nature of the solution he had

used?

Watch Video Solution

98. Give the reason why copper is used to make hot water

tanks but steel (an alloy of iron) is not.

Watch Video Solution

https://dl.doubtnut.com/l/_GF4p4dkvOVBp
https://dl.doubtnut.com/l/_cXGqs0kwSBTI


99. Iqbal treated a lustrous, divalent element M with

sodium hydroxide. He observed the formation of bubbles

in reaction mixture. He made the same observations when

this element was treated with hydrochloric acid. Suggest

how can he identify the produced gas. write the chemical

equations for both the reactions.

Watch Video Solution

100. Electrolytic refining is used to purify which of the

following metals ?

Watch Video Solution

https://dl.doubtnut.com/l/_Mk9TY0FuylEh
https://dl.doubtnut.com/l/_xi3zbpX3skqq


101. Electrolytic refining of metals is used to get metals of

very high purity.

Watch Video Solution

102. Electrolytic refining of metals is used to get metals of

very high purity.

Watch Video Solution

103. Give reasons: Carbonate and suphide ores are usually

converted into oxides during the process of extraction

Watch Video Solution

https://dl.doubtnut.com/l/_6kRQW9mplRWw
https://dl.doubtnut.com/l/_SFNUYmDLJQK2
https://dl.doubtnut.com/l/_35K1rqLJhsyU


104. When alkyl halides are treated with  they give

Watch Video Solution

Ag2O

105. Compound X and aluminium are used to join railway

tracks.

Identify the compound X?

Watch Video Solution

106. Compound X and aluminium are used to join railway

tracks.

Name the reaction.

Watch Video Solution

https://dl.doubtnut.com/l/_DX2aoBDBGfKF
https://dl.doubtnut.com/l/_3SwAeT1kH5m5
https://dl.doubtnut.com/l/_s7xGg0A9H5G8


107. Compound X and aluminium are used to join railway

tracks.

Write down its reaction.

Watch Video Solution

108. When a metal X is treated with cold water, it gives a

basic salt Y with molecular formula XOH (Molecular

mass=40) and liberates a gas Z which easily catches fire.

Identify X,Y and Z and also write the reaction involved.

Watch Video Solution

https://dl.doubtnut.com/l/_s7xGg0A9H5G8
https://dl.doubtnut.com/l/_lSZ1GntVP0SV
https://dl.doubtnut.com/l/_V9biGqTk2MrB


109. A non-metal x, exists in two farms Y and Z. Y is the

hardest substance and Z is a GOOD condutor of electricity

what are X,Y and Z?

Watch Video Solution

110. The following reaction takes place when aluminium

powder is heated with 





Is aluminium getting reduced?

Watch Video Solution

MnO2

3MNO2(s) + 4Al(s) → 3Mn(l) + 2Al2O3(l) + Heat

https://dl.doubtnut.com/l/_V02gwwvUIsx7
https://dl.doubtnut.com/l/_jG47mNm8Pj0y


111. The following reaction takes place when aluminium

powder is heated with 





Is  getting oxidised?

Watch Video Solution

MnO2

3MnO2(s) + 4Al(s) → 3Mn(l) + 2Al2O3(l) + Heat

MnO2

112. What are the constituents of solder alloy? Which

property of solder makes it suitable for welding electrical

wires?

Watch Video Solution

https://dl.doubtnut.com/l/_eUBfpR9cPNp4
https://dl.doubtnut.com/l/_wd2zkSwhZzng


113. A metal, A which is used in thermite process, when

heated with oxygen gives an oxide B, which is amphoteric

in nature. Identify A and B. write down the reactions of

oxide B with HCl and NaOH.

Watch Video Solution

114. A metal that exists as a liquid at room temperature is

obtained by heating its sulphide in the presence of air.

Identify the metals and its ore and give the reaciton

involed.

Watch Video Solution

https://dl.doubtnut.com/l/_NtcFB7c4svqc
https://dl.doubtnut.com/l/_fa7FlFUIoPcn


115. Give the formulae of the stable binary compounds

that would be formed by the combination of following

pairs of elements:

Mg and Nitrogen?

Watch Video Solution

116. Give the formulae of the stable binary compounds

that would be formed by the combination of following

pairs of elements:

Li and Oxygen?

Watch Video Solution

https://dl.doubtnut.com/l/_6L2i2LfJmREX
https://dl.doubtnut.com/l/_h4FkANd3lefv


117. Give the formulae of the stable binary compounds

that would be formed by the combination of following

pairs of elements:

Al and chlorine?

Watch Video Solution

118. Give the formulae of the stable binary compounds

that would be formed by the combination of following

pairs of elements:

K and ?

Watch Video Solution

O2

https://dl.doubtnut.com/l/_CRoK3UcT4JKf
https://dl.doubtnut.com/l/_s9RXyrJa2v26


119. What happens when

 is heated in the absence of oxygen?

Watch Video Solution

ZnCO3

120. What happens when

a mixture of  and  is heated?

Watch Video Solution

Cu2O Cu2S

121. A non-metal A is an important consituent of our food

and forms two oxides B and C. Oxide B is toxic where as C

causes global warming.

Identify A,B and C?

https://dl.doubtnut.com/l/_8KromZlNDT0l
https://dl.doubtnut.com/l/_r7RUo9yYfyBy
https://dl.doubtnut.com/l/_QwZrTWDc25NS


Watch Video Solution

122. A non-metal A is an important consituent of our food

and forms two oxides B and C. Oxide B is toxic where as C

causes global warming.

To which group of Periodic table does A belong?

Watch Video Solution

123. Give two examples each of the metals that are good

conductors and poor conductors of heat respectively.

Watch Video Solution

https://dl.doubtnut.com/l/_QwZrTWDc25NS
https://dl.doubtnut.com/l/_OTui8B9UNO3i
https://dl.doubtnut.com/l/_oqMLYi0IFxfZ


124. Name one metal and non-metal that exist in liquid

state at room temperature. Also name two metals having

melting point less than 310K .

Watch Video Solution

(37∘C)

125. An element A reacts with water to form a compound

B which is used in white washing. The compound B on

heating forms an oxide C which on treatment with watr

gives back B. identify A, B and C and give the reacitons

involved.

Watch Video Solution

https://dl.doubtnut.com/l/_EJXuL15lMGnL
https://dl.doubtnut.com/l/_vRgUe6l6toin


126. An alkali metal A gives a compound B on reacting with

water. The compound B gives a soluble compound C on

treatment with aluminium oxide. Identify A,B and C and

give the reactions involved.

Watch Video Solution

127. Give the reactions involved during extraction of zinc

form its ore by

roasting of zinc ore?

Watch Video Solution

https://dl.doubtnut.com/l/_WqRG4DXocjqm
https://dl.doubtnut.com/l/_U6qaA6sn4dXA


128. Give the reactions involved during extraction of zinc

form its ore by

calcination of zinc ore.

Watch Video Solution

129. A metal M does not liberate hydrogen from acids but

reacts with oxygen to give a black coloured produce.

Identify M and black coloured product and also explain

the reaction M with oxygen.

Watch Video Solution

https://dl.doubtnut.com/l/_rTwb0BkX2bD7
https://dl.doubtnut.com/l/_4gfzKhvTOmBs


130. An element M forms an oxide . Which is acidic

in nature. State whether the element M is a metal or a

non-metal.

Watch Video Solution

M2O3

131. A solution of  was kept in an iron pot. After a

few days the iron pot was found to have a number of

holes in it. Explain the reasons in terms of reactivity. Write

the equations of the reaction involved.

Watch Video Solution

CuSO4

https://dl.doubtnut.com/l/_fteQR3ojkQ4c
https://dl.doubtnut.com/l/_UJohuIDIaXcK


132. A non-metal A which is the largest consituent of air,

when heated with  in 1:3 ratio in the presence of

catalyst gives a gas B. on heating with  it gives an oxide

C. If this oxide is passed into water in the presence of air

it gives an acid D which acts as a strong oxidising agent.

Identify A,B,C and D.

Watch Video Solution

H2

O2

133. A non-metal A which is the largest consituent of air,

when heated with  in 1:3 ratio in the presence of

catalyst gives a gas B. on heating with  it gives an oxide

C. If this oxide is passed into water in the presence of air

it gives an acid D which acts as a strong oxidising agent.

H2

O2

https://dl.doubtnut.com/l/_48CCY3B8omzt
https://dl.doubtnut.com/l/_q2olp9W3Xu8d


To which group of periodic table does this non-metal

belong?

Watch Video Solution

134. Give the steps involvd in the extraction of metals of

low and medium reactivity from their respective sulphide

ores.

Watch Video Solution

135. Explain the following:

Reactivity of Al decreases if it is dipped in .

Watch Video Solution

HNO3

https://dl.doubtnut.com/l/_q2olp9W3Xu8d
https://dl.doubtnut.com/l/_g0NmIXO9I2wc
https://dl.doubtnut.com/l/_WNN56uAiUa7d


136. Explain the following:

Carbon cannot reduce the oxides of Na and Mg.

Watch Video Solution

137. Explain the following:

NaCl is not a conductor of electricity in solid state

whereas it does conduct electricity in aqueous solution as

well as in molten state.

Watch Video Solution

138. Explain the following:

Metals like Na,K, Ca and Mg are never found in their free

https://dl.doubtnut.com/l/_GdprcWmLATED
https://dl.doubtnut.com/l/_bYMjfxwwlTR2
https://dl.doubtnut.com/l/_Dve2F07L0FW9


state in nature.

Watch Video Solution

139. Explain the following:

Iron articles are galvanised.

Watch Video Solution

140. Write the reaction involved

Roasting of copper (I) sulphide.

Watch Video Solution

https://dl.doubtnut.com/l/_Dve2F07L0FW9
https://dl.doubtnut.com/l/_fsgotNbPzg9t
https://dl.doubtnut.com/l/_1OA1LWDIJXTn


141. Write the reaction involved

Reduction of copper oxide with copper sulphide.

Watch Video Solution

142. Write a short note on electrolytic refining of copper.

Watch Video Solution

143. Draw a neat and labelled diagram for zone refining of

metals.

Watch Video Solution

https://dl.doubtnut.com/l/_NlBq5Y3uNDid
https://dl.doubtnut.com/l/_vZ14lGDRV6U7
https://dl.doubtnut.com/l/_CCTBiHNYfWS5
https://dl.doubtnut.com/l/_qxW3wvIaNOAv


144. Of the three metals X,Y and Z, X reacts with cold

water, Y with hot water and Z with steam only. Identify X,Y

and Z also arrange them in order of increasing reactivity.

Watch Video Solution

145. An element A burns with golden flame in air. It reacts

with another element B, atomic number 17 to give a

product C. An aqueous a solution of product C on

electrolysis gives a compound D and liberates hydrogen.

Identify A,B,C or D. Also write down the equations for the

reaction involved.

Watch Video Solution

https://dl.doubtnut.com/l/_qxW3wvIaNOAv
https://dl.doubtnut.com/l/_sXt6CjLiRSwj


146. Two ores A and B were taken. On heating, ore A gives

 whereas, ore B gives . What steps will you take

to convert them into metals?

Watch Video Solution

CO2 SO2

147. A student has been collecting silver coins and copper

coins. One day he observed a black coating on silver coins

and a green coating on copper coins. Which chemial

phenomenon is responsible for these coatings. Write the

chemical name of black and green coatings.

Watch Video Solution

https://dl.doubtnut.com/l/_w2B7S2HAYM80
https://dl.doubtnut.com/l/_G3FexSqElVqW


148. State which of the following chemical reaciton will

take place or not. Giving suitable reason for each:

Watch Video Solution

Zn(s) + CusO4(aq) → ZnSO4(aq) + Cu(s)

149. State which of the following chemical reaciton will

take place or not. Giving suitable reason for each:

Watch Video Solution

Fe(s) + ZnSO4(aq) → FeSO4(aq) + Zn(s)

150. State which of the following chemical reaciton will

take place or not. Giving suitable reason for each:

https://dl.doubtnut.com/l/_Ar1GajUZc330
https://dl.doubtnut.com/l/_r3Fnp6c8e0oY
https://dl.doubtnut.com/l/_BB8zgCx7Qbdl


Watch Video Solution

Zn(s) + FeSO4(aq) → ZnSO4(aq) + Fe(s)

151. A metal is treated with dilute sulphuric acid. The gas

is collected by the method shown in figure ahead. Answer

the following:

Name the gas.

Watch Video Solution

https://dl.doubtnut.com/l/_BB8zgCx7Qbdl
https://dl.doubtnut.com/l/_74v1CyrJKduw


152. A metal is treated with dilute sulphuric acid. The gas

is collected by the method shown in figure ahead. Answer

the following:

Name the gas.

Watch Video Solution

153. A metal is treated with dilute sulphuric acid. The gas

is collected by the method shown in figure ahead. Answer

https://dl.doubtnut.com/l/_Z9KUytt162WO
https://dl.doubtnut.com/l/_Fo6oG1MKvyGP


the following:

Name the method of collection of the gas.

Watch Video Solution

154. A metal is treated with dilute sulphuric acid. The gas

is collected by the method shown in figure ahead. Answer

the following:

https://dl.doubtnut.com/l/_Fo6oG1MKvyGP
https://dl.doubtnut.com/l/_0yjV2VlfOA1O


Name the method of collection of the gas.

Watch Video Solution

155. From amongest the metals sodium, calcium,

aluminium, copper, and magnesium, name the metal

which reacts with water only on boiling?

Watch Video Solution

https://dl.doubtnut.com/l/_0yjV2VlfOA1O
https://dl.doubtnut.com/l/_3bPerCt7huwN
https://dl.doubtnut.com/l/_AMAOWHuC0qlO


156. From amongest the metals sodium, calcium,

aluminium, copper, and magnesium, name the metal

another metal which does not react even with steam.

Watch Video Solution

157. Show the formation of  and  by the

transfer of electrons.

Watch Video Solution

Na2O MgO

158. Why are ionic compounds usually hard?

Watch Video Solution

https://dl.doubtnut.com/l/_AMAOWHuC0qlO
https://dl.doubtnut.com/l/_EkF6AFKP6WAx
https://dl.doubtnut.com/l/_011RZrW5GWAP
https://dl.doubtnut.com/l/_6KBZVOGraAKa


159. Why do ionic solids conduct electricity in aqueous

solutions but not in the solid state ?

Watch Video Solution

160. Fill in the blanks: 

Watch Video Solution

161. Fill in the blanks: 

https://dl.doubtnut.com/l/_6KBZVOGraAKa
https://dl.doubtnut.com/l/_n1eNnLiX6pdS
https://dl.doubtnut.com/l/_haQTtR0Etww3


Watch Video Solution

162. Fill in the blanks: 

Watch Video Solution

163. Identify (a),(b) and (c)

https://dl.doubtnut.com/l/_haQTtR0Etww3
https://dl.doubtnut.com/l/_EeDNL85PNCEu
https://dl.doubtnut.com/l/_PRlblJV2Cl0K


Watch Video Solution

164. Fill in the blanks: 

Watch Video Solution

165. What are amphoteric oxides? Choose the amphoteric

oxides from amogst the following oxides:

Watch Video Solution

Na2O, ZnO, Al2O3, CO2, H2O

https://dl.doubtnut.com/l/_PRlblJV2Cl0K
https://dl.doubtnut.com/l/_CrdDu2vsLazc
https://dl.doubtnut.com/l/_3gs1sWKeKUqE


166. Why is it that non-metals do not displace hydrogen

from dilute acids?

Watch Video Solution

167. Name two metals which react violently with cold

water. Write any three observtations you would make

when such a metals is dropped into water. How would you

identify the gas evolved if any, during the reaction?

Watch Video Solution

168. Name a metal for each case.

It does not react with cold as well as hot water but reacts

https://dl.doubtnut.com/l/_CVEJ0Dw2zUtS
https://dl.doubtnut.com/l/_TmubWHrw1pyd
https://dl.doubtnut.com/l/_iP1aBW1ID3sq


with steam.

Watch Video Solution

169. Name a metal for each case.

It does not react with any physical state of water.

Watch Video Solution

170. When calcium metals is added to water, the gas

evolved does not catch fire but the same gas evolved on

adding sodium metals to water catches fire. Why is it so?

Watch Video Solution

https://dl.doubtnut.com/l/_iP1aBW1ID3sq
https://dl.doubtnut.com/l/_yskyyjytnR51
https://dl.doubtnut.com/l/_t9heMctnzc0S
https://dl.doubtnut.com/l/_cYJuywprgCzt


171. What is an a.c. generator? With the help of a labelled

diagram, explain the construction and working of an a.c.

generator.

Watch Video Solution

172. What is meant by a leaf?

Watch Video Solution

173. An ore on heating in air produces sulphur dioxide.

Which process would you suggest for its concentration?

Describe briefly any two steps involved in the conversion

of this concentrated ore into related metal.

W t h Vid S l ti

https://dl.doubtnut.com/l/_cYJuywprgCzt
https://dl.doubtnut.com/l/_aU2o6bE1Z5Z2
https://dl.doubtnut.com/l/_cQvZ7eodU2Vw


Watch Video Solution

174. Distinguish between ionic and covalent compounds

under the following properties:

strength of forces between constituent elements.

Watch Video Solution

175. Distinguish between ionic and covalent compounds

under the following properties:

solubility of compounds in water.

Watch Video Solution

https://dl.doubtnut.com/l/_cQvZ7eodU2Vw
https://dl.doubtnut.com/l/_I9Mkjs8KaMQw
https://dl.doubtnut.com/l/_uDj4qN006YJH


176. Explain how the following metals are obtained from

their compounds by the reducton process:

Metal M is in the middle of the reactivity series.

Watch Video Solution

177. Agar-agar is obtained from the following

Watch Video Solution

178. Distinguish between roasting and calcination. Which

of these two is used for sulphide ores and why?

Watch Video Solution

https://dl.doubtnut.com/l/_b7ovT6GAoBQa
https://dl.doubtnut.com/l/_RWgFt5FKh5Qi
https://dl.doubtnut.com/l/_xBPLOVpLrvzy


179. Write a chemical equations illustrates the use of

aluminium for joining cracked railway lines.

Watch Video Solution

180. Name the anode, the cathode and the electrolyte

used in the electrolytic refining of impure copper.

Watch Video Solution

181. Zinc metal can displace copper from copper sulphate

soution but copper metal can not displace zinc from the

solution of zinc sulphate give reason.

Watch Video Solution

https://dl.doubtnut.com/l/_qj9Cs5ibFH3J
https://dl.doubtnut.com/l/_Zwhgfs6Wn9F7
https://dl.doubtnut.com/l/_zAsYAd7AQm8w


182. Which process is used for the enrichment of suphide

ore.explain in brief two steps involved in the extraction of

metal from enriched suphide ore

Watch Video Solution

183. Give an example of a metal which:

is kept immersed in kerosene for storing.

Watch Video Solution

184. Name two metals which are both malleble and

ductile.

https://dl.doubtnut.com/l/_zAsYAd7AQm8w
https://dl.doubtnut.com/l/_iznhrorF6J7c
https://dl.doubtnut.com/l/_vnRiim8nUIeP
https://dl.doubtnut.com/l/_hM51XRIwaejL


Watch Video Solution

185. Name a metal which is best conductor of heat.

Watch Video Solution

186. Describe the electrolysis of water with the help of a

labelled diagram.

Watch Video Solution

187. Name the pollen producing part of the flower? Explain

with the help of a well labelled diagram?

Watch Video Solution

https://dl.doubtnut.com/l/_hM51XRIwaejL
https://dl.doubtnut.com/l/_7WUp9RlRS0WG
https://dl.doubtnut.com/l/_BFMUcJq0Z243
https://dl.doubtnut.com/l/_JXdEVXBtMeIe


Watch Video Solution

188. Describe the electrolysis of water with the help of a

labelled diagram.

Watch Video Solution

189. Write the names and symbols of two most reactive

metals belongiong to group I of the periodic table.

Explain by drawing electronic structure how either one of

the two metals reacts with halogen. With which name is

the bond formed between these elements known and

what is the class of the compuond so formed known?

state any four physical properties of such compounds.

Watch Video Solution

https://dl.doubtnut.com/l/_JXdEVXBtMeIe
https://dl.doubtnut.com/l/_D3oJc55o9V3N
https://dl.doubtnut.com/l/_c7FLkj4xUfix


190. Name the method used for refining of Zirconium.

Watch Video Solution

191. Surface of some meltals lose their brightness when

kept in air for a long time. Why?

Watch Video Solution

192. The atomic number of sodium is 11, fluorine is 9 and

neon is 10. Why are sodium and fluorine very reactive

while neon shows almost no reactivity.

Watch Video Solution

https://dl.doubtnut.com/l/_c7FLkj4xUfix
https://dl.doubtnut.com/l/_5gdoNaKM65UY
https://dl.doubtnut.com/l/_CtSrp63kDlSf
https://dl.doubtnut.com/l/_ZzRCKGmfrN1J


Watch Video Solution

193. Melting and boiling points of ionic compounds are

high.

Watch Video Solution

194. Aluminium is more reactive than iron, yet there is less

corrosion of aluminium when both are exposed to air.

Watch Video Solution

195. T/F Solder is used for welding electrical wires

together.

W t h Vid S l ti

https://dl.doubtnut.com/l/_ZzRCKGmfrN1J
https://dl.doubtnut.com/l/_zFarE8J58Ej8
https://dl.doubtnut.com/l/_braM65MJRLDr
https://dl.doubtnut.com/l/_vjtydNISBkpz


Watch Video Solution

196. T/F A sulphide ore is converted into its oxide to

extract the metal.

Watch Video Solution

197. T/F Tarnished copper vessles are cleaned with

tamarind juice.

Watch Video Solution

198. How will you extract metals which are low in the

reactivity series?

https://dl.doubtnut.com/l/_vjtydNISBkpz
https://dl.doubtnut.com/l/_yFM3cdmuMnOz
https://dl.doubtnut.com/l/_zexXP9OGzAlC
https://dl.doubtnut.com/l/_EvJ0x6IlZHiV


Watch Video Solution

199. Explain how the following metals are obtained from

their compounds by the reducton process:

Metal M is in the middle of the reactivity series.

Watch Video Solution

200. Explain how the following metals are obtained from

their compounds by the reducton process:

Metal M is in the middle of the reactivity series.

Watch Video Solution

https://dl.doubtnut.com/l/_EvJ0x6IlZHiV
https://dl.doubtnut.com/l/_rqRLJzZoy3UB
https://dl.doubtnut.com/l/_snrYGVQjuwkD


201. In the electrolytic refining a metal M what would you

take as the anode, cathode and electrolyte?

Watch Video Solution

202. Which one of the following four metals would be

displaced from the solution of its salt by other three

metals?

Watch Video Solution

203. The electronic configurations of two elements A and

B are 2,8,1 and 2,8,7.

https://dl.doubtnut.com/l/_Hi1OLeLabAsA
https://dl.doubtnut.com/l/_ppEWmUVErJ04
https://dl.doubtnut.com/l/_gve3TObbAqek


Identity the type of compound that will be formed by

reactions of two elements. Explain its formation.

Watch Video Solution

204. State any two properties of the compound.

Watch Video Solution

205. Name the method used for refining of Nickel.

Watch Video Solution

https://dl.doubtnut.com/l/_gve3TObbAqek
https://dl.doubtnut.com/l/_B2ETEZcpRvd9
https://dl.doubtnut.com/l/_wsICZGmA52cc


206. Silver articles and copper articles get a black and

green coating respectively when kept for a long time in

air. Mentions the reason for this and identify the chemical

name of the coating in each case.

Watch Video Solution

207. State two ways to prevent the rusting of iron

Watch Video Solution

208. How do the properties of iron changes when

nickel and chromium are mixed with it.

Watch Video Solution

https://dl.doubtnut.com/l/_AW7OeZTaysBu
https://dl.doubtnut.com/l/_WKu8yK5MB7UO
https://dl.doubtnut.com/l/_FhqX11g4dm7X


209. When a metal X is treated with cold water, it gives a

basic salt Y with molecular formula XOH (Molecular

mass=40) and liberates a gas Z which easily catches fire.

Identify X,Y and Z and also write the reaction involved.

Watch Video Solution

210. Fill appropriate terms in the blank. The first steps

involved in metallurgy are:

……………of ore.

Watch Video Solution

https://dl.doubtnut.com/l/_FhqX11g4dm7X
https://dl.doubtnut.com/l/_R0hQ7q32rI8G
https://dl.doubtnut.com/l/_fJqNqbefyBpQ


211. fill appropriate terms in the blacks. The step involved

in metallurgy are:

Conversion of ore into its………….. .

Watch Video Solution

212. fill appropriate terms in the blacks. The step involved

in metallurgy are:

Reduction of oxides of ores into……………… .

Watch Video Solution

213. Fill appropriate terms in the blank. The first steps

involved in metallurgy are:

https://dl.doubtnut.com/l/_DAVxMCa1kNqt
https://dl.doubtnut.com/l/_pNh32EWD8erN
https://dl.doubtnut.com/l/_pe0CiKpJVRSR


……………of ore.

Watch Video Solution

214. Name the method used for refining of Nickel.

Watch Video Solution

215. Name the method used for refining of Nickel.

Watch Video Solution

216. Name the method used for refining of Nickel.

Watch Video Solution

https://dl.doubtnut.com/l/_pe0CiKpJVRSR
https://dl.doubtnut.com/l/_eeJI68pxAneA
https://dl.doubtnut.com/l/_630AO9ExUtYo
https://dl.doubtnut.com/l/_nEexh0AoYpgV


217. Explain liquation process for the refining of metals.

Watch Video Solution

218. How is copper obtained from ? Give reactions.

Watch Video Solution

Cu2S

219. T/F Sodium metal is kept immersed in kerosene.

Watch Video Solution

https://dl.doubtnut.com/l/_nEexh0AoYpgV
https://dl.doubtnut.com/l/_nGsiR1ZIX3iw
https://dl.doubtnut.com/l/_GSzZlHimB8TW
https://dl.doubtnut.com/l/_Hl1XRFquVmxX


220. T/F Blue colour of copper sulpahte solution

disappears when some aluminium powder is added in it.

Watch Video Solution

221. Define corrosion of metals?

Watch Video Solution

222. What is corrosion of iron called?

Watch Video Solution

https://dl.doubtnut.com/l/_f3WeiULpMP94
https://dl.doubtnut.com/l/_HylzCvatM3fO
https://dl.doubtnut.com/l/_NDFiXAhyz6uc


223. How will you recognise the corrosion of silver?

Watch Video Solution

224. Why corrosion of iron is a serious problem?

Watch Video Solution

225. How can we prevent corrosion?

Watch Video Solution

https://dl.doubtnut.com/l/_NqINcmsDS8Uq
https://dl.doubtnut.com/l/_Efz1KotFJ2f2
https://dl.doubtnut.com/l/_dE4wWk1zAUdy


226. You are provided with a container made up of

aluminium. You are also provided with solutions of dil HCl,

dil ,  and . Out of these solutions which

solution, can be kept in the aluminium container? Name

the type of reactions takes place.

Watch Video Solution

HNO3 ZnCl2 H2O

227. Give reasons for the following:

School bells are made up of metals.

Watch Video Solution

https://dl.doubtnut.com/l/_NL6H1BREw4Lo
https://dl.doubtnut.com/l/_WRt6W5zc7OFA


228. Give reasons for the following:

Electrical wires are made up of copper.

Watch Video Solution

229. A compound Z is formed by the transfer of electrons

form a metal X to a non-metal Y. Identify the type of bond

formed in the compound. List three general properties of

the compounds formed by such type of bonds.

Watch Video Solution

230. If a copper plate reamins immeresed in silver nitrate

solution for some time then what happens? write the

https://dl.doubtnut.com/l/_Y5z0kFg7pKlm
https://dl.doubtnut.com/l/_qrRYXMrtMuVC
https://dl.doubtnut.com/l/_BIos2kBDFFRW


ionic equation for the reaction

Watch Video Solution

231. The wires carrying current in homes have a coating of

PVC. Why?

Watch Video Solution

232. Name a metal which does not stick to glass.

Watch Video Solution

https://dl.doubtnut.com/l/_BIos2kBDFFRW
https://dl.doubtnut.com/l/_AO8grIFvLXlI
https://dl.doubtnut.com/l/_6bgaXZKyFEsO


233. Name a metal which is commonly used in thermite

welding.

Watch Video Solution

234. What is the nature of zinc oxide?

Watch Video Solution

235. Define the term magnetic moment.

Watch Video Solution

https://dl.doubtnut.com/l/_VltOqwrpxMp6
https://dl.doubtnut.com/l/_frCUttN48I8R
https://dl.doubtnut.com/l/_HzkX46z6pqvz


236. Name the objects made from plastic.

Watch Video Solution

237. Write a short note on electrolytic refining of copper.

Watch Video Solution

238. List four important properties of aluminium which

are responsible for its great demand in industry.

Watch Video Solution

https://dl.doubtnut.com/l/_zw3UUDmHv4L9
https://dl.doubtnut.com/l/_NBESUVlQQDwP
https://dl.doubtnut.com/l/_oY9mbAC4Qaty


239. Write the electron dot structure of magnesium and

chlorine and show the formation of magnesium chloride

by transfer of electrons.

Watch Video Solution

240. State the property utilized in the following:

Graphite in making electrodes.

Watch Video Solution

241. State the property utilized in the following:

Electric wires are coated with polyvinyl chloride or a

rubber like material.

https://dl.doubtnut.com/l/_BYJpewPRdG5H
https://dl.doubtnut.com/l/_H36YlRsnnnSZ
https://dl.doubtnut.com/l/_Y1Ht5JTDGVVq


Watch Video Solution

242. Metal alloys are used for making bells and strings of

musical instruments.

Watch Video Solution

243. Explain general properties of ionic compounds

Watch Video Solution

244. List any two metals found in free state in earth's

crust. Where are they located in activity series?

Watch Video Solution

https://dl.doubtnut.com/l/_Y1Ht5JTDGVVq
https://dl.doubtnut.com/l/_dQOFLKLxoYA0
https://dl.doubtnut.com/l/_o9Y9lc8GvM0z
https://dl.doubtnut.com/l/_s0g75K6sSwj8


Watch Video Solution

245. Derived units can be obtained from the _____ units.

Watch Video Solution

246. Differentiate between the following with suitable

examples:

mineral and ore.

Watch Video Solution

247. Differentiate between the following with suitable

examples:

corrosion and rancidity.

https://dl.doubtnut.com/l/_s0g75K6sSwj8
https://dl.doubtnut.com/l/_5oKlAbtHhgJz
https://dl.doubtnut.com/l/_iaTpvQMjRQlS
https://dl.doubtnut.com/l/_hoZSyzOWLXi4


Watch Video Solution

248. Explain the following with suitable examples

Molality?

Watch Video Solution

249. Fill in the blanks: 

Watch Video Solution

250. Differentiate roasting and calcination

https://dl.doubtnut.com/l/_hoZSyzOWLXi4
https://dl.doubtnut.com/l/_eouJrSy6hZpO
https://dl.doubtnut.com/l/_1MVLbbMWx51z
https://dl.doubtnut.com/l/_moSywth9RQdz


Watch Video Solution

251. Give reasons for the following:

Why do aluminuim sheets not corrode easily?

Watch Video Solution

252. Give reasons for the following:

Why is copper vessel covered with a green coating in rainy

season?

Watch Video Solution

https://dl.doubtnut.com/l/_moSywth9RQdz
https://dl.doubtnut.com/l/_vlvMTkfBPQfR
https://dl.doubtnut.com/l/_ez3LAYFvfYif


253. State conditions under which the following metals

react with water. Give equations for each reaction:

Na?

Watch Video Solution

254. State conditions under which the following metals

react with water. Give equations for each reaction:

Mg?

Watch Video Solution

255. State conditions under which the following metals

react with water. Give equations for each reaction:

https://dl.doubtnut.com/l/_fFFSjZwSyFXs
https://dl.doubtnut.com/l/_iyqZsGIkv8eT
https://dl.doubtnut.com/l/_Xjs1IjkvGlxg


Fe?

Watch Video Solution

256. What type of ores are calcined? Illustrate giving a

suitable example.

Watch Video Solution

257. In what form is the calcined ore obtained and how

can it be reduced? Give chemical equtions of the

reduction process involved for the example given to you .

Watch Video Solution

https://dl.doubtnut.com/l/_Xjs1IjkvGlxg
https://dl.doubtnut.com/l/_09DoQ2bfg75B
https://dl.doubtnut.com/l/_qR0u1H6m14zq
https://dl.doubtnut.com/l/_8ZaZpBNSrYxc


258. Name the metal used as a reducing agent in

aluminothermic process.

Watch Video Solution

259. Consider the following reactions : 

(i)  


(ii)  

Arrange the metals A,B,C in the decreasing order of

reactivity.

Watch Video Solution

A + BSO4 → aSO4 + B

B + 2CNO3 → B(NO3)2 + 2C

260. Discuss the reaction for the preparation of cumene.

How can it be converted into phenol ? Write the chemical

https://dl.doubtnut.com/l/_8ZaZpBNSrYxc
https://dl.doubtnut.com/l/_PggevWnReqeC
https://dl.doubtnut.com/l/_dHa5Vh85YMad


equations.

Watch Video Solution

261. An element 'A' reacts with oxygen to form an oxide of

the formula  which dissolves in dil. HCl. The oxide

formed turns red litmus paper blue.

Is the element a metal or a non-metal?

Watch Video Solution

A2O

262. An element 'A' reacts with oxygen to form an oxide of

the formula  which dissolves in dil. HCl. The oxide

formed turns red litmus paper blue.

Write the formula of  and its reaction with dil. HCl.

A2O

A2O

https://dl.doubtnut.com/l/_dHa5Vh85YMad
https://dl.doubtnut.com/l/_azpx4Nj2TUIa
https://dl.doubtnut.com/l/_mBht4HMPzKWX


Watch Video Solution

263. A metal M has the electronic configuration 2,8,3. It

occurs in nature as . Answer the following

questions:

Name the metal and it ore.

Watch Video Solution

M2O3

264. Answer the following question-
Is bronze a metal?

Watch Video Solution

https://dl.doubtnut.com/l/_mBht4HMPzKWX
https://dl.doubtnut.com/l/_OYdhplDI8lMt
https://dl.doubtnut.com/l/_npJCPkBwFN1z


265. A metal M has the electronic configuration 2,8,3. It

occurs in nature as . Answer the following

questions:

Wil the following reaction occur or not?

Watch Video Solution

M2O3

2M + 3FeSO4(aq) → 3Fe(s) + M2(SO4)3(aq)

266. The table shows properties of elements:




Which element is a liquid at room temeprature?

https://dl.doubtnut.com/l/_cjT4XjpRVapF
https://dl.doubtnut.com/l/_IJgsfQmKq6aQ


Watch Video Solution

267. The table shows properties of elements:




Which of these are non-metals?

Watch Video Solution

https://dl.doubtnut.com/l/_IJgsfQmKq6aQ
https://dl.doubtnut.com/l/_Q8QXmoa0OUW6


268. The table shows properties of elements:




C reacts with water to form an alkaline solution:

How can you test that solution is alkaline?

Watch Video Solution

269. Fill in the blanks: 

Watch Video Solution

https://dl.doubtnut.com/l/_425m1pioxJWX
https://dl.doubtnut.com/l/_2DR1nh37gUYs


270. The table shows properties of elements:




Name the most reactive metal in the table.

Watch Video Solution

271. Fill in the blanks: 

Watch Video Solution

https://dl.doubtnut.com/l/_2DR1nh37gUYs
https://dl.doubtnut.com/l/_eC8yr75pbxxB
https://dl.doubtnut.com/l/_PNPOcaqzLzAN


272. Samples of 5 metals: A,B,C,D and E were added to

following solutions one by one. The results are recordd

below:




Which is least reactive metal?

Watch Video Solution

273. A solution of  was kept in an iron pot. After a

few days the iron pot was found to have a number of

holes in it. Explain the reasons in terms of reactivity. Write

the equations of the reaction involved.

W t h Vid S l ti

CuSO4

https://dl.doubtnut.com/l/_PNPOcaqzLzAN
https://dl.doubtnut.com/l/_ej1gAA2rB10F
https://dl.doubtnut.com/l/_SeatZFPPyqVz


Watch Video Solution

274. A solution of  was kept in an iron pot. After a

few days the iron pot was found to have a number of

holes in it. Explain the reasons in terms of reactivity. Write

the equations of the reaction involved.

Watch Video Solution

CuSO4

275. Reena's grandmother usually complained feeling of

burning or acidity in the stomach after over eating. As a

student of science, how do you analyse this symptom and

what remedial method can you suggest?

Watch Video Solution

https://dl.doubtnut.com/l/_SeatZFPPyqVz
https://dl.doubtnut.com/l/_Qq09uuziLEh3
https://dl.doubtnut.com/l/_YllsMjWp7KwT


276. During summer season, a milkman usually adds a very

small amount of baking soda to fresh milk. Give one

reasons.

Watch Video Solution

277. Rani's mother made a cake using baking soda. She

found that the cake is bitter in taste and is hard and small

in size. As a student of science, what suggestion would

rani give to her mother for making fluffy and soft cake?

Watch Video Solution

https://dl.doubtnut.com/l/_cbYlgprwVI31
https://dl.doubtnut.com/l/_VSqi17KstAzo


278. "Excessive eating of chocolates and sweets damage

the teeth of small children." As a student of sceince what

suggestion do you make to prevent tooth decay in small

children.

Watch Video Solution

279. Manu's mother always purchased a knife made up of

stainless steel instead of iron through stainless steel knife

is very costly. How do you justify her choice?

Watch Video Solution

https://dl.doubtnut.com/l/_sOuzLtlX7Ldq
https://dl.doubtnut.com/l/_Z4bsk1EesrZb


280. Oceans are vast store of energy'' justify this

statement

Watch Video Solution

281. Concrete has been most widely used as a building

material. It is reinforced by rods which make it hard and

stronger. However, it has been noticed that some old

buildings are showing signs of weakness and cracks. As a

student of chemistry how would yu analyse this shocking

situation? is there any method to protect these buildings

from further damage?

Watch Video Solution

https://dl.doubtnut.com/l/_u7OOhnaay17Y
https://dl.doubtnut.com/l/_Gn6AiaOR4q1M


Exercise

1. List two metals which are easy to cut .

Watch Video Solution

2. what happen when a piece of zinc is added to copper

sulphate solution?

Watch Video Solution

3. Name two amphoteric oxide

Watch Video Solution

https://dl.doubtnut.com/l/_psUFjHFiXTSU
https://dl.doubtnut.com/l/_9ojuj3GiOMxa
https://dl.doubtnut.com/l/_XE2B5Wp5fFJD
https://dl.doubtnut.com/l/_Z6Tk59ZN7Jtg


4. Name one non-metal and one metal which are in liquid

state at room temperature.

Watch Video Solution

5. Which is more metallic: sodium or aluminium?

Watch Video Solution

6. What can be seen when strip of copper metal is placed

in a solution of silver nitrate?

Watch Video Solution

https://dl.doubtnut.com/l/_Z6Tk59ZN7Jtg
https://dl.doubtnut.com/l/_bqtk6WJgMv3I
https://dl.doubtnut.com/l/_eWZPAWgMqk7r


7. Zinc displaces copper from a solution of CuSO4 `

because zinc is .............. than Copper

Watch Video Solution

8. Magnesium liberates ………..gas on reacting with boiling

water.

Watch Video Solution

9. The white powder formed when magnesium ribbon

burns in oxygen it forms ..........

Watch Video Solution

https://dl.doubtnut.com/l/_G1F33CKQyve3
https://dl.doubtnut.com/l/_ASnJYjdqWFlT
https://dl.doubtnut.com/l/_GxDVbbrdJLjY


10. Which of the following displacement reaction cannot

accur?

 


 


 


 


Watch Video Solution

CuSO4 ( aq ) + Fe → FeSO4 ( aq ) + Cu

FeSO4 ( aq ) + Zn → ZnSO4 ( aq ) + Fe

Zn → ZnSO4 ( aq ) + Pb → PbSO4 ( aq ) + Zn

2AgNO3 ( aq ) + Cu → Cu(NO3)2 + 2Ag

MgSO4 ( aq ) + Cu → CuSO4 + Mg

11. Is following reactions will occurs?explain:

Watch Video Solution

MgSO4(aq) + Fe(s) → FeSO4(aq) + Mg(s)

https://dl.doubtnut.com/l/_NzK1IzqDnq8g
https://dl.doubtnut.com/l/_s2338ThjwHwa
https://dl.doubtnut.com/l/_mI9Ej1GGk1Jq


12. Give chemical equations to show that:

hydrogen gas is passed over heated calcium oxide.

Watch Video Solution

13. Give the reactions when red hot iron reacts with steam

Watch Video Solution

14. Give chemical equations to show that:

sodium oxide reacts with water.

Watch Video Solution

https://dl.doubtnut.com/l/_mI9Ej1GGk1Jq
https://dl.doubtnut.com/l/_8kDdPJ8oIMLi
https://dl.doubtnut.com/l/_3XCtfuGLT07V


15. Name two metals which are lighter than water.

Watch Video Solution

16. Which metal is used in Fittig reaction ?

Watch Video Solution

17. Complete the following equations:

Watch Video Solution

Fe(s) + H2O(g)
Redheat
−−−−→

https://dl.doubtnut.com/l/_HerLvm5ewxV2
https://dl.doubtnut.com/l/_mqJoE8QglHlX
https://dl.doubtnut.com/l/_EJCZ7M4UzFtD


18. Complete and balance the following equtions:

Watch Video Solution

Na2O + H2O →

19. Complete the following equations:

Watch Video Solution

Ag+ (aq) + Cu(s) →

20. Complete the following equations:

Watch Video Solution

MgO + Cu →

https://dl.doubtnut.com/l/_L3AVx44wmJuM
https://dl.doubtnut.com/l/_r1f7KZhF4ri7
https://dl.doubtnut.com/l/_hxrkR88udFdz


21. Which of the following metals will displace hydrogen

from dilute hydrochloric acid?

?

A. Mg

B. Cu

C. Au

D. Ag

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_9Mbu7cpVI7xg


22. Which of the following metals will displace hydrogen

from dilute hydrochloric acid?

Ag

Cu

Al

pt

Watch Video Solution

23. Which of the following metals will displace hydrogen

from dilute hydrochloric acid?

Ag

Cu

https://dl.doubtnut.com/l/_9ktCEZA8fagm
https://dl.doubtnut.com/l/_KE0W7eiin1xU


Al

pt

Watch Video Solution

24. Which of the following metals will displace hydrogen

from dilute hydrochloric acid?

Ag

Cu

Al

pt

Watch Video Solution

https://dl.doubtnut.com/l/_KE0W7eiin1xU
https://dl.doubtnut.com/l/_Rk62Bw8rGl0l


25. Which of the following metals will displace hydrogen

from dilute hydrochloric acid?

Ag

Cu

Al

pt

Watch Video Solution

26. Which of the following metals will displace hydrogen

from dilute hydrochloric acid?

Ag

Cu

https://dl.doubtnut.com/l/_rZ1Mt4ONOaMp
https://dl.doubtnut.com/l/_CFOVTWkQARnk


Al

pt

Watch Video Solution

27. Iron occupies………….position than magnesium in the

activity series. (lower/higher)

Watch Video Solution

28. An element having electronic configuration 2,8,1

is…………reactive than the one having electronic

configuration 2,8,3.(more/less)

Watch Video Solution

https://dl.doubtnut.com/l/_CFOVTWkQARnk
https://dl.doubtnut.com/l/_dMftNu9ulXPj
https://dl.doubtnut.com/l/_SKIG9U4BvRcc


29. Sodium is…………….reactive than copper (less/more)

because it occup[ies…………..position in the reactivity series.

(higher/lower)

Watch Video Solution

30. The most common physical state of metals at room

temperature is…………..(solid/liquid)

Watch Video Solution

31. A metal occupying higher position in the activity

series…………….displace other metals lying below it form

their solution.(can/cannot)

https://dl.doubtnut.com/l/_O31w4OEvGG0b
https://dl.doubtnut.com/l/_dHd6Cgb6bjGg
https://dl.doubtnut.com/l/_Tx3WbGV88npQ


Watch Video Solution

32. Name the metal which is best conductor of electricity?

Watch Video Solution

33. Which of the following is a poor conductor of

electricity?

Watch Video Solution

34. From the following displacement reactions, predict

which is the most reactive metal?

Cu2 + + Fe(s) → Fe2 + (aq) + Cu(s)

https://dl.doubtnut.com/l/_Tx3WbGV88npQ
https://dl.doubtnut.com/l/_WW5CPBgworg2
https://dl.doubtnut.com/l/_MMVfZNopZRvU
https://dl.doubtnut.com/l/_8GY9dK8ESXPy


Watch Video Solution

35. From the following displacement reactions, predict

which is the most reactive metal?

Watch Video Solution

2Ag+ (aq) + Cu(s) → Cu2 + (aq) + 2Ag(s)

36. From the following displacement reactions, predict

which is the most reactive metal?

Watch Video Solution

Fe2 + (aq) + Zn(s) → Zn2 + (aq) + Fe(s)

https://dl.doubtnut.com/l/_8GY9dK8ESXPy
https://dl.doubtnut.com/l/_UEkufuJchS3C
https://dl.doubtnut.com/l/_m7cOOPbMeblg


37. What is the nature of metal oxides?

Watch Video Solution

38. What is the nature of non-metal oxide?

Watch Video Solution

39. Name two metals which are both malleble and ductile.

Watch Video Solution

https://dl.doubtnut.com/l/_Ots0UyITzBlM
https://dl.doubtnut.com/l/_GoJmEHkUUbEn
https://dl.doubtnut.com/l/_ZBjwfkFWPsfp


40. Name one metal more reactive than hydrogen add

one less reactive metal than hydrogen?

Watch Video Solution

41. In nature, metal A is found in free state while state

metal B is found in the form of its compounds. Which of

these two metals will be near the top of the reactivity

series?

Watch Video Solution

42. Which of the following elements would yield a basic

oxide?

https://dl.doubtnut.com/l/_OIOeKUaOKCaz
https://dl.doubtnut.com/l/_KqPxGUB2aMfb
https://dl.doubtnut.com/l/_kux517iwwALn


S,P,Ca,Si

Watch Video Solution

43. Name two metals which react wth hydrogen

Watch Video Solution

44. Graphite is a good conductor of electricity because

Watch Video Solution

45. Name one non metal which is lustrous?

Watch Video Solution

https://dl.doubtnut.com/l/_kux517iwwALn
https://dl.doubtnut.com/l/_IlIz4Uap1BYs
https://dl.doubtnut.com/l/_dhTcBJ0HXIPG
https://dl.doubtnut.com/l/_hLW6G7nIviJI


46. Name one non-metal and one metal which are in liquid

state at room temperature.

Watch Video Solution

47. Classify the following elements into metals and non-

metals?

Potassium, sulphur, diamond and argon.

Watch Video Solution

48. An element X has the electronic configuraiton 2,8,8,2.

ON the basis of electronic configuration, 

https://dl.doubtnut.com/l/_hLW6G7nIviJI
https://dl.doubtnut.com/l/_XYkCh5fYbtX1
https://dl.doubtnut.com/l/_76mmkgRScp8d
https://dl.doubtnut.com/l/_Y3OTSvTVWSk1


Does this element form acidic or basic oxide?

Watch Video Solution

49. An element X has the electronic configuraiton 2,8,8,2.

ON the basis of electronic configuration, 

Is it expected to be malleable and ductile or not?

Watch Video Solution

50. An element X has the electronic configuraiton 2,8,8,2.

ON the basis of electronic configuration, 

Will this element dispalce hydrogen from dilute acids?

Watch Video Solution

https://dl.doubtnut.com/l/_Y3OTSvTVWSk1
https://dl.doubtnut.com/l/_Lm0VY9z3hJki
https://dl.doubtnut.com/l/_YQUYwsyWz4Zm


51. An element X has the electronic configuraiton 2,8,8,2.

ON the basis of electronic configuration, 

Is the element expected to be good conductor of

electricity or not?

Watch Video Solution

52. Write the names of two oxides which are neither acidic

nor basic?

Watch Video Solution

53. What type of oxides are formed when non-metals

combine with oxygen?

https://dl.doubtnut.com/l/_DAm2UOrfIshI
https://dl.doubtnut.com/l/_j2fUSgHeJWbm
https://dl.doubtnut.com/l/_Lht3W9kUOVF9


Watch Video Solution

54. Which of the following elements would give acidic

oxide?

K,P,Na or H

Watch Video Solution

55. An element M forms an oxide . Which is acidic in

nature. State whether the element M is a metal or a non-

metal.

Watch Video Solution

M2O3

https://dl.doubtnut.com/l/_Lht3W9kUOVF9
https://dl.doubtnut.com/l/_dz6ngCSRwuyT
https://dl.doubtnut.com/l/_prvS6vkp5atv


56. Which reducing agent is used for the reduction of

alumina?

Watch Video Solution

57. Which process is used for the enrichment of suphide

ore.explain in brief two steps involved in the extraction of

metal from enriched suphide ore

Watch Video Solution

58. What chemical process is used for obtaining a metal

from its oxide?

Watch Video Solution

https://dl.doubtnut.com/l/_TOB0do49Kyca
https://dl.doubtnut.com/l/_H8AyAd80ZIqy
https://dl.doubtnut.com/l/_Z4XWONAPAHGv


59. What chemical process is used for obtaining a metal

from its oxide?

Watch Video Solution

60. The most abundant element in the earth's crust is:

Watch Video Solution

61. Fill ups

The minerals from which metals are produced

economically are called…………….. .

Watch Video Solution

https://dl.doubtnut.com/l/_Z4XWONAPAHGv
https://dl.doubtnut.com/l/_UDxu3UWsQUbf
https://dl.doubtnut.com/l/_1rdE43xCCOpD
https://dl.doubtnut.com/l/_klI7eAWdh6P8


Watch Video Solution

62. Fill ups

The process involvd in the production of a metal from the

ore are collectively known as……………… .

Watch Video Solution

63. For the reduction of a metallic oxide, suggest a

reducing agent cheaper than aluminium.

Watch Video Solution

https://dl.doubtnut.com/l/_klI7eAWdh6P8
https://dl.doubtnut.com/l/_8OZdH1b1Swta
https://dl.doubtnut.com/l/_V6EDC1amPk6R


64. Which of the following ores are concentrated by froth

floation ?

Watch Video Solution

65. Give the name of one metal each occuring as:

carbonate.

Watch Video Solution

66. Give the name of one metal each occuring as:

oxide?

Watch Video Solution

https://dl.doubtnut.com/l/_cFksA2szxV09
https://dl.doubtnut.com/l/_ocwNTMTwtUHB
https://dl.doubtnut.com/l/_QR7dHTaGsgpi


67. Give the name of one metal each occuring as:

sulphide?

Watch Video Solution

68. Give the name of one metal each occuring as:

halide.

Watch Video Solution

69. Name two metals which are found in nature the free

state.

Watch Video Solution

https://dl.doubtnut.com/l/_hYU3FKM9BgCy
https://dl.doubtnut.com/l/_fllTa7rxfRrO
https://dl.doubtnut.com/l/_HZiqMEE2vwq3


70. The rockey material found with ores is known

as…………….

Watch Video Solution

71. Conversion of sulphide ore into an oxide by heating in

excess of air is called……….. .

Watch Video Solution

72. Froth floatation process is used for the concentration

of ……………..ores.

Watch Video Solution

https://dl.doubtnut.com/l/_BGTQZTdBVxV6
https://dl.doubtnut.com/l/_GevL9fhGgCcf
https://dl.doubtnut.com/l/_hRiLL1WSvcAX


73. Cinnabar is an ore of

Watch Video Solution

74. Name the substance oxidised, reduced, oxidising

agent, reducing agent in the following reactions:

Watch Video Solution

3MnO2 + 4Al → 3Mn + 2Al2O3

75. Name two metals which are not corroded easily

Watch Video Solution

https://dl.doubtnut.com/l/_F79Mn1fwEMWf
https://dl.doubtnut.com/l/_lsOauo8rahCl
https://dl.doubtnut.com/l/_Ba3qEbCtlgfM
https://dl.doubtnut.com/l/_TQLGElSPB6v6


76. What is rusting? What is the chemical formula of rust?

Watch Video Solution

77. Percentage of gold in 18 carat gold is:

Watch Video Solution

78. Name two conditions necessary for rusting of iron.

Watch Video Solution

79. What is the composition of bronze metal alloy?

Watch Video Solution

https://dl.doubtnut.com/l/_TQLGElSPB6v6
https://dl.doubtnut.com/l/_osHUEaLnILnI
https://dl.doubtnut.com/l/_7ILmndfNIMWT
https://dl.doubtnut.com/l/_SvuaF8ZvtN7H


80. Which is the common metal in brass and bronze?

Watch Video Solution

81. Which is the common consitutent of all amalgams?

Watch Video Solution

82. How will you convert 24 carat gold into 22 carat gold

for making ornaments?

Watch Video Solution

https://dl.doubtnut.com/l/_SvuaF8ZvtN7H
https://dl.doubtnut.com/l/_c2HY6IIjQsbs
https://dl.doubtnut.com/l/_QVbbpK98ta2H
https://dl.doubtnut.com/l/_aHHbvGNGIube


83. Name the consituents of stainless steel.

Watch Video Solution

84. Decide the following pairs will react. If they react

complete the reactions:

Watch Video Solution

Zn + CuSO4 →

85. Decide which of the following pairs will react. If they

react complete the reactions:




Zn+CuSo_4

Ag + Cu(NO3)2 →

https://dl.doubtnut.com/l/_BmClX6MmI7RR
https://dl.doubtnut.com/l/_ejC47UA2Td1c
https://dl.doubtnut.com/l/_kc2e5SoBjr7j


Watch Video Solution

86. Decide which of the following pairs will react. If they

react complete the reactions:




Zn+CuSo_4

Watch Video Solution

Ag + Cu(NO3)2 →

87. Decide following pair will react. If they react complete

the reactions:

Watch Video Solution

Au + O2 →

https://dl.doubtnut.com/l/_kc2e5SoBjr7j
https://dl.doubtnut.com/l/_vQgTyzIfwerC
https://dl.doubtnut.com/l/_KmN0DDyeQjGP
https://dl.doubtnut.com/l/_yc2mv1aWGdDC


88. Decide the following pair will react. If they react

complete the reactions:

Watch Video Solution

Cu + H2SO4 →

89. Decide the following pair will react. If they react

complete the reactions:

Watch Video Solution

ZnSO4 + Fe →

90. Decide the following pair will react. If they react

complete the reactions:

https://dl.doubtnut.com/l/_yc2mv1aWGdDC
https://dl.doubtnut.com/l/_ahFmXxNiZO5P
https://dl.doubtnut.com/l/_2yT4x4XZtA3m


Watch Video Solution

Fe2O3 + C →

91. Decide which of the following pairs will react. If they

react complete the reactions:

Watch Video Solution

AgNO3 + Cu →

92. See the list of following metals:

Pb,Cu,Al,Hg,Mg,Fe,Ag

Name the metal which is

most reactive.

Watch Video Solution

https://dl.doubtnut.com/l/_2yT4x4XZtA3m
https://dl.doubtnut.com/l/_4XVhrAAavEMs
https://dl.doubtnut.com/l/_JNyMtGN9eJZk


Watch Video Solution

93. See the list of following metals:

Pb,Cu,Al,Hg,Mg,Fe,Ag

Name the metal which is

poorest conductor of electricity.

Watch Video Solution

94. See the list of following metals:

Pb,Cu,Al,Hg,Mg,Fe,Ag

Name the metal which is

liquid at room temperature.

Watch Video Solution

https://dl.doubtnut.com/l/_JNyMtGN9eJZk
https://dl.doubtnut.com/l/_1VewNMMrPUqI
https://dl.doubtnut.com/l/_D11m4BgzDQgY


95. See the list of following metals:

Pb,Cu,Al,Hg,Mg,Fe,Ag

Name the metal which is

most reactive.

Watch Video Solution

96. See the list of following metals:

Pb,Cu,Al,Hg,Mg,Fe,Ag

Name the metal which is

most reactive.

Watch Video Solution

https://dl.doubtnut.com/l/_MSmHcsXjaQ4h
https://dl.doubtnut.com/l/_JZSfZJAIU1IT


97. Which of the following displacement reaction cannot

accur?

 


 


 


 


Watch Video Solution

CuSO4 ( aq ) + Fe → FeSO4 ( aq ) + Cu

FeSO4 ( aq ) + Zn → ZnSO4 ( aq ) + Fe

Zn → ZnSO4 ( aq ) + Pb → PbSO4 ( aq ) + Zn

2AgNO3 ( aq ) + Cu → Cu(NO3)2 + 2Ag

MgSO4 ( aq ) + Cu → CuSO4 + Mg

98. Which of the following displacement reaction cannot

accur?

 


 


CuSO4 ( aq ) + Fe → FeSO4 ( aq ) + Cu

FeSO4 ( aq ) + Zn → ZnSO4 ( aq ) + Fe

https://dl.doubtnut.com/l/_a0YpK45aZbr5
https://dl.doubtnut.com/l/_DQXMsUN0uJGB


 


 


Watch Video Solution

Zn → ZnSO4 ( aq ) + Pb → PbSO4 ( aq ) + Zn

2AgNO3 ( aq ) + Cu → Cu(NO3)2 + 2Ag

MgSO4 ( aq ) + Cu → CuSO4 + Mg

99. Which of the following displacement reaction cannot

accur?

 


 


 


 


Watch Video Solution

CuSO4 ( aq ) + Fe → FeSO4 ( aq ) + Cu

FeSO4 ( aq ) + Zn → ZnSO4 ( aq ) + Fe

Zn → ZnSO4 ( aq ) + Pb → PbSO4 ( aq ) + Zn

2AgNO3 ( aq ) + Cu → Cu(NO3)2 + 2Ag

MgSO4 ( aq ) + Cu → CuSO4 + Mg

https://dl.doubtnut.com/l/_DQXMsUN0uJGB
https://dl.doubtnut.com/l/_HIDupyUvNcAS
https://dl.doubtnut.com/l/_U7Z5aNub8OLq


100. Which of the following displacement reaction cannot

accur?

 


 


 


 


Watch Video Solution

CuSO4 ( aq ) + Fe → FeSO4 ( aq ) + Cu

FeSO4 ( aq ) + Zn → ZnSO4 ( aq ) + Fe

Zn → ZnSO4 ( aq ) + Pb → PbSO4 ( aq ) + Zn

2AgNO3 ( aq ) + Cu → Cu(NO3)2 + 2Ag

MgSO4 ( aq ) + Cu → CuSO4 + Mg

101. Which of the following displacement reaction cannot

accur?

 


 


CuSO4 ( aq ) + Fe → FeSO4 ( aq ) + Cu

FeSO4 ( aq ) + Zn → ZnSO4 ( aq ) + Fe

https://dl.doubtnut.com/l/_U7Z5aNub8OLq
https://dl.doubtnut.com/l/_CkM4BQe7Lm6B


 


 


Watch Video Solution

Zn → ZnSO4 ( aq ) + Pb → PbSO4 ( aq ) + Zn

2AgNO3 ( aq ) + Cu → Cu(NO3)2 + 2Ag

MgSO4 ( aq ) + Cu → CuSO4 + Mg

102. Which of the following displacement reaction cannot

accur?

 


 


 


 


Watch Video Solution

CuSO4 ( aq ) + Fe → FeSO4 ( aq ) + Cu

FeSO4 ( aq ) + Zn → ZnSO4 ( aq ) + Fe

Zn → ZnSO4 ( aq ) + Pb → PbSO4 ( aq ) + Zn

2AgNO3 ( aq ) + Cu → Cu(NO3)2 + 2Ag

MgSO4 ( aq ) + Cu → CuSO4 + Mg

https://dl.doubtnut.com/l/_CkM4BQe7Lm6B
https://dl.doubtnut.com/l/_NNF7ebt3LA3X
https://dl.doubtnut.com/l/_KIjHvjXSKtw5


103. Write chemical equations for the reactions taking

place when:

A piece of calcium metal is placed in water.

Watch Video Solution

104. Write chemical equations for the reactions taking

place when:

Zinc carbonate is calcined.

Watch Video Solution

105. Write chemical equations for the reactions taking

place when:

https://dl.doubtnut.com/l/_KIjHvjXSKtw5
https://dl.doubtnut.com/l/_mZQWJM86894p
https://dl.doubtnut.com/l/_VKxHj5uui0VY


Steam is passed over hot iron.

Watch Video Solution

106. The electronic configuraitons of some elements are

given below. Which of these ar not metals?

A: 2,8,1

B: 2,7

C: 2,2

D: 2,8,8

E: 2,8,8,2

F: 2,8,6

G: 2,1

H: 2,4

Watch Video Solution

https://dl.doubtnut.com/l/_VKxHj5uui0VY
https://dl.doubtnut.com/l/_C1GWegEqtK1F


107. A lustrus non-metal is ……………. .

Watch Video Solution

108. A non-metal which is a good condutor of

electricity………………. .

Watch Video Solution

109. A liquid non-metal……………. .

Watch Video Solution

https://dl.doubtnut.com/l/_C1GWegEqtK1F
https://dl.doubtnut.com/l/_rDqaHfa9BgRg
https://dl.doubtnut.com/l/_BJjI65yKnMZ5
https://dl.doubtnut.com/l/_N234PcxGp97e
https://dl.doubtnut.com/l/_NpUyNP3325ha


110. A liquid metal…………………. .

Watch Video Solution

111. A non-metal having high melting point…………. .

Watch Video Solution

112. Two metals which are good conductors of

electricity…………… .

Watch Video Solution

https://dl.doubtnut.com/l/_NpUyNP3325ha
https://dl.doubtnut.com/l/_w5TIx0mq7GYs
https://dl.doubtnut.com/l/_U1dwFsKWc3ZL


113. Two metals which are poor conductor of

electricity……………. .

Watch Video Solution

114. Two metals which are best malleable metals………….. .

Watch Video Solution

115. Name two metals which can be cut with a knife

Watch Video Solution

https://dl.doubtnut.com/l/_ZA1Jno0ikL86
https://dl.doubtnut.com/l/_5Ahyb3buHYkQ
https://dl.doubtnut.com/l/_B6S9dZXP9iwt


116. Two metals which occur in free state as well as in the

combined state………………. .

Watch Video Solution

117. Write balanced equations for the following:

Aluminium oxide reacts with sodium hydroxide.

Watch Video Solution

118. Write chemical equations for the reactions taking

place when:

Steam is passed over hot iron.

Watch Video Solution

https://dl.doubtnut.com/l/_7DEeBc0jxz7j
https://dl.doubtnut.com/l/_eKduJ6331TJl
https://dl.doubtnut.com/l/_Oybn7g7UsfMi


119. Write balanced equations for the following:

Potassium oxide is dissolved in water.

Watch Video Solution

120. Write balanced equations for the following:

Chlorine reacts with phosphorus.

Watch Video Solution

121. Write balanced equations for the following:

Carbon dioxde dissolves in water.

Watch Video Solution

https://dl.doubtnut.com/l/_Oybn7g7UsfMi
https://dl.doubtnut.com/l/_u9LxM8MxPMIo
https://dl.doubtnut.com/l/_K654Y5kgiaFE
https://dl.doubtnut.com/l/_ZrHi40yT1qtv


Watch Video Solution

122. Write the electron dot structures for the following:

?

Watch Video Solution

MgF2

123. Write the electron dot structures for the following:

MgO?

Watch Video Solution

124. Write the electron dot structures for the following:

?

W h Vid S l i

K2O

https://dl.doubtnut.com/l/_ZrHi40yT1qtv
https://dl.doubtnut.com/l/_wvOfny4o19Zv
https://dl.doubtnut.com/l/_RqLfdEQlIyzq
https://dl.doubtnut.com/l/_pc5vrRjscYOZ


Watch Video Solution

125. Write the electron dot structures for the following:

AlN

Watch Video Solution

126. Write the electron dot structures for the following:

CaO?

Watch Video Solution

https://dl.doubtnut.com/l/_pc5vrRjscYOZ
https://dl.doubtnut.com/l/_S92ZAuQyx9RI
https://dl.doubtnut.com/l/_S9xpfTjOGM4r


127. Complete the table:

Watch Video Solution

128. Which of the following are metals?

Ca,P,Cl, K,N?

Watch Video Solution

https://dl.doubtnut.com/l/_28Te68zXVwZ0
https://dl.doubtnut.com/l/_bPKUGDFvCXiS


129. Which of the following metals will displace hydrogen

from dilute hydrochloric acid?

?

Watch Video Solution

130. Which of the following metals will displace copper

form  solution?


Al, Ni, Ag, Hg, Zn

Watch Video Solution

CuSO4

131. Which of the following are metals?

Ca,P,Cl, K,N?

https://dl.doubtnut.com/l/_IE9rY5FMrxV7
https://dl.doubtnut.com/l/_XkDl0kAL7GmI
https://dl.doubtnut.com/l/_sJeCdyQBhG3T


Watch Video Solution

132. Which of the following donot react with cold as well

as hot water:

Fe,Mg,Al,K,Ca

Watch Video Solution

133. Name two elements which show metallic as well as

non-metallic propertis. What are these called?

Watch Video Solution

134. Name one non metal which is lustrous?

https://dl.doubtnut.com/l/_sJeCdyQBhG3T
https://dl.doubtnut.com/l/_ZIYTNSaILF7K
https://dl.doubtnut.com/l/_q0l7jFhjuglW
https://dl.doubtnut.com/l/_NM8j33SpbIl5


Watch Video Solution

135. Name two metals which can be cut with a knife

Watch Video Solution

136. All metals are solids at room temperature. Do you

agree or not?

Watch Video Solution

137. What is chemical nature of ?

Watch Video Solution

Al2O3

https://dl.doubtnut.com/l/_NM8j33SpbIl5
https://dl.doubtnut.com/l/_VRdvTpjea2QY
https://dl.doubtnut.com/l/_L7N9msvxO4gw
https://dl.doubtnut.com/l/_Pp0KBs93O64z


138. What is roasting? when do you use it?

Watch Video Solution

139. What is dolomite?

Watch Video Solution

140. How many valence electrons are present in

aluminium?

Watch Video Solution

https://dl.doubtnut.com/l/_gXBhjxxFHu89
https://dl.doubtnut.com/l/_zvxdPgatEMhr
https://dl.doubtnut.com/l/_FYun9mXzOnG8


141. Name a metal which is the poorest conductor of

electricity?

Watch Video Solution

142. Name one liquid metal and one liquid non-metal?

Watch Video Solution

143. Out of Na,K,Ag and Mg which reacts least with water?

Watch Video Solution

https://dl.doubtnut.com/l/_dZadsGM7o6dW
https://dl.doubtnut.com/l/_0GuDgFVze80w
https://dl.doubtnut.com/l/_ToCgFQERgueD


144. If zinc is more reactive than copper, will copper

displace zinc from ?

Watch Video Solution

ZnSO4

145. Which of the following element is a non-metal:

, , 

Watch Video Solution

Na K P

146. Name two metals which are lighter than water.

Watch Video Solution

https://dl.doubtnut.com/l/_qLbXMJQ1PTq3
https://dl.doubtnut.com/l/_jDKs5XIDeNZx
https://dl.doubtnut.com/l/_8VvZ3FEyY0YN
https://dl.doubtnut.com/l/_Yx1iGK5qqFPx


147. Does solid NaCl conduct electricity?

Watch Video Solution

148. Which is most abundant metal from the following

list?

Mg, Fe, Al, Na, K

Watch Video Solution

149. What is alumina?

Watch Video Solution

https://dl.doubtnut.com/l/_Yx1iGK5qqFPx
https://dl.doubtnut.com/l/_XuV75V67JiOl
https://dl.doubtnut.com/l/_vzAHubmiqdKY


150. What is formula of greenish coating on the surface of

copper when it is exposed to air and moisture?

Watch Video Solution

151. In the electrorefining of copper,some gold is

deposited as:

Watch Video Solution

152. Name the components of Brass.

Watch Video Solution

https://dl.doubtnut.com/l/_Or1vNobcB6Bi
https://dl.doubtnut.com/l/_4vAuHY0xwe3y
https://dl.doubtnut.com/l/_ZVFCJAKDoARv
https://dl.doubtnut.com/l/_lsoaNQUZiOSl


153. T/F Mercury is a liquid non-metal

Watch Video Solution

154. Magnetite is an ore of magnesium

Watch Video Solution

155. In the electrorefining of copper,some gold is

deposited as:

Watch Video Solution

156. T/F Sodium is less reactive than copper.

https://dl.doubtnut.com/l/_lsoaNQUZiOSl
https://dl.doubtnut.com/l/_cXwe7LA3JopM
https://dl.doubtnut.com/l/_43K2Q0xsgbQx
https://dl.doubtnut.com/l/_7iorniemOUl8


Watch Video Solution

157. Two metals A and B have reduction potentials values

-0.76V and +0.34V respectively. Which of these will liberate

 from dil ?

Watch Video Solution

H2 H2SO4

158. T/F Silver metals acts as non-conductor of electric

current.

Watch Video Solution

https://dl.doubtnut.com/l/_7iorniemOUl8
https://dl.doubtnut.com/l/_GugRGiBp0brI
https://dl.doubtnut.com/l/_2EqCkAx9hCQA


159. T/F Silver metal gets tarnished on exposure to

atmosphere due to the formation of AgOH.

Watch Video Solution

160. Graphite is a good conductor of electricity because

Watch Video Solution

161. The formula of cinabar is HgO.

Watch Video Solution

https://dl.doubtnut.com/l/_ecTD5RlWTKQ1
https://dl.doubtnut.com/l/_rnnsnmjFHuuh
https://dl.doubtnut.com/l/_IGcfdmhd78Kv


162. Molten sodium chloride conducts electricity due to

the presence of:

Watch Video Solution

163. Na and S are present in the third period of modern

periodic table which is more metallic and why?

Watch Video Solution

164. Non metal oxides are

Watch Video Solution

https://dl.doubtnut.com/l/_0T5Ok8NAGXlE
https://dl.doubtnut.com/l/_DuTXlfw25Jvt
https://dl.doubtnut.com/l/_XoXGi5WWed2u
https://dl.doubtnut.com/l/_QJFJBZRbId9Z


165.  and  are acidic oxides.

Watch Video Solution

P2O5 SO2

166. T/F Aluminium metal does not react even with steam.

Watch Video Solution

167. See the list of following metals:

Pb,Cu,Al,Hg,Mg,Fe,Ag

Name the metal which is

most reactive.

Watch Video Solution

https://dl.doubtnut.com/l/_QJFJBZRbId9Z
https://dl.doubtnut.com/l/_FxK1GNXrADFu
https://dl.doubtnut.com/l/_KOB5lhydVADj
https://dl.doubtnut.com/l/_BDi4MUgicQ6k


168. T/F Rust is 

Watch Video Solution

Fe2O3. xH2O

169. Pure gold is 100 carat gold.

Watch Video Solution

170. Bronze and brass have copper metal as common

component.

Watch Video Solution

171. What is present in the middle piece of sperm?

https://dl.doubtnut.com/l/_BDi4MUgicQ6k
https://dl.doubtnut.com/l/_cVkAeO1aDHic
https://dl.doubtnut.com/l/_92vqkz1T8tCc
https://dl.doubtnut.com/l/_viTamVEdlIVw


Watch Video Solution

172. Fill ups

Zinc displaces copper form a solution of  but

………….does not displace Zn.

Watch Video Solution

Cu2 +

173. Fill ups

Magnesium liberates hydrogen gas on reacting with

...........water.

Watch Video Solution

https://dl.doubtnut.com/l/_viTamVEdlIVw
https://dl.doubtnut.com/l/_N3figcHEh5lY
https://dl.doubtnut.com/l/_lbfMiw9eIybH


174. The white powder formed when magnesium ribbon

burns in oxygen it forms ..........

Watch Video Solution

175. The rockey material found with ores is known

as…………….

Watch Video Solution

176. Conversion of sulphide ore into an oxide by heating in

excess of air is called……….. .

Watch Video Solution

https://dl.doubtnut.com/l/_9cUoqABbN3RL
https://dl.doubtnut.com/l/_osYXCON8Tpsy
https://dl.doubtnut.com/l/_YSUidLtu0vQL


177. Froth floatation process is used for the concentration

of ……………..ores.

Watch Video Solution

178. Cinnabar is an ore of

Watch Video Solution

179. Fill ups

Sodium amalgam is a mixture of sodium and …………………. .

Watch Video Solution

https://dl.doubtnut.com/l/_PeYnwWU69WRM
https://dl.doubtnut.com/l/_186J86B543tN
https://dl.doubtnut.com/l/_q9GfuLxfFhqx
https://dl.doubtnut.com/l/_X4M6fQnf7KO8


180. What is the colour hydrated copper sulphate?

Watch Video Solution

181. Fill ups

The process of covering iron with………….is called

galvanization.

Watch Video Solution

182. Fill ups

Out of Al,Zn and Ag only…………..cannot displace hydrogen

form dil. HCl.

Watch Video Solution

https://dl.doubtnut.com/l/_X4M6fQnf7KO8
https://dl.doubtnut.com/l/_1wlGdyPcznWs
https://dl.doubtnut.com/l/_0s9qtKh5ygR3


183. What are het reactions occuring at the cathode and

anode of a Leclanche cell?

Watch Video Solution

184. Is nickel more reactive or less reactive than copper?

Watch Video Solution

185. Can we store copper sulphate solution in a zinc vessel

?

Watch Video Solution

https://dl.doubtnut.com/l/_l4J2x2tCqpix
https://dl.doubtnut.com/l/_MzEQUKtH2icb
https://dl.doubtnut.com/l/_TwP4qMK8AP43
https://dl.doubtnut.com/l/_Oo4XtyWKzDFV


186. Can you describe what happens when milk is

converted into curd or yoghurt, from your understanding

of proteins.

Watch Video Solution

187. How is water gas prepared ?

Watch Video Solution

188. Write the reactions: 

Chlorination of Benzene

Watch Video Solution

https://dl.doubtnut.com/l/_Oo4XtyWKzDFV
https://dl.doubtnut.com/l/_Q6iOswxQRo7s
https://dl.doubtnut.com/l/_yCLrPNqdEFzl
https://dl.doubtnut.com/l/_N2Hyzjzh7S7j


189. Write the functions of : 

Acrosome.

Watch Video Solution

190. Aluminium powder was added to a solutoin of copper

sulphate. The colour of the solution changed from:

A. colourless to blue

B. blue to colourless

C. light green to blue

D. reddish brown to light green

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_N2Hyzjzh7S7j
https://dl.doubtnut.com/l/_MeLv4D1RfkTj


Watch Video Solution

191. Zinc granules are placed in each of the four solutions

A,B,C and D as shown. Colour change would be observed

in

A. A and B

B. C and D

C. A and C

D. B and D

https://dl.doubtnut.com/l/_MeLv4D1RfkTj
https://dl.doubtnut.com/l/_DVHKpuZ0tcq4


Answer:

Watch Video Solution

192. Two beakers A and B contain iron sulphate solution.

In beaker A, a small piece of copper and in beaker B in a

small piece of zinc are placed. It is found that after some

time a grey deposite forms on zinc but not on copper.

From these observations it can be concluded that:

A. Zinc is most active metal followed by iron and then

copper

B. Zinc is most active metal followed by copper and

then iron.

https://dl.doubtnut.com/l/_DVHKpuZ0tcq4
https://dl.doubtnut.com/l/_mlEPdZMh8kmS


C. Iron is most active metal followed by zinc and then

copper.

D. Irons is most active followed by copper and then

zinc.

Answer:

Watch Video Solution

193. A student puts some crystals of  in water

taken in a test tube. The colour of the solutions obtained

would be:

A. red

CuSO4

https://dl.doubtnut.com/l/_mlEPdZMh8kmS
https://dl.doubtnut.com/l/_tYBc3I1Yqobd


B. blue

C. brown

D. colourless

Answer:

Watch Video Solution

194. Two beakers A and B contain an aqueous solution of

. In beakers A zinc granules and in beaker B copper

turnings have been placed. A grey coating was obsrved on

zinc but not on copper. From the above observations we

FeSO4

https://dl.doubtnut.com/l/_tYBc3I1Yqobd
https://dl.doubtnut.com/l/_Y4OzWQDOiieL


can conclude.

A. zinc is more reactive than iron and copper

B. iron is more reactive than zinc and copper

C. iron is more reactive than zinc but less than copper

D. copper is more reactive than iron but less than zinc

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Y4OzWQDOiieL


195. The aqueous solutions of copper sulphate and zinc

sulphate appear

A. blue and green respectivley

B. green and colourless respectively

C. blue and brown respectively

D. blue and colourless respectively

Answer:

Watch Video Solution

196. Solutions of copper sulphate, iron sulphate and zinc

sulphate are prepared are marked I,II and III respectively.

https://dl.doubtnut.com/l/_ZqwDjeclfQFt
https://dl.doubtnut.com/l/_mfruzzC80r7M


Few pieces of aluminium are added to each solution. After

some time a change will be observed in

A. I and II

B. II and III

C. III and I

D. All of the three

Answer:

Watch Video Solution

197. A thin plate of zinc metal is placed in a beaker

containing aqueous ferrous sulphate solutiohn. The zinc

https://dl.doubtnut.com/l/_mfruzzC80r7M
https://dl.doubtnut.com/l/_jfcjRocAr9Kp


plate is taken out after 15 mins. The colour is solutions

changes to:

A. deep yellow

B. deep green

C. light blue

D. colourless

Answer:

Watch Video Solution

198. An iron nail is suspended in copper sulphate solution

are kept for a while. It is observed that the solution.

https://dl.doubtnut.com/l/_jfcjRocAr9Kp
https://dl.doubtnut.com/l/_tkIX5H2Nkl6r


A. Remains blue and a coating is formed on the nail

B. Turns green and a coating is found on the nail

C. Remains blue and no coating is formed on the nail

D. Turns green no coating is found on the nail

Answer:

Watch Video Solution

199. Complete the following: 

A. I and II

https://dl.doubtnut.com/l/_tkIX5H2Nkl6r
https://dl.doubtnut.com/l/_ugom4hO2Zjcq


B. I,II and III

C. II and III

D. II, III and IV

Answer:

Watch Video Solution

200. Rekha took two solutions, 10 mL each separately in

two test tubes, A and B. The solutions were of  and

 respectively. The colours of the two solutions

were:

A. A-pale green, B-colourless

B. A-pale green, B-blue

FeSO4

Al2(SO4)3

https://dl.doubtnut.com/l/_ugom4hO2Zjcq
https://dl.doubtnut.com/l/_zZd1ajUNmvTr


C. A-colourless, B-colourless

D. A-blue, B-pale green

Answer:

Watch Video Solution

201. A chemistry lab-incharge kept zinc metal in 

solution and observed that after sometime, green ferrous

sulphate soluton turns to colourless and some brown

powder is depostied on zinc. In the above reaction, zinc

metal acts as

A. Oxidising agent

B. Reducing agent

FeSO4

https://dl.doubtnut.com/l/_zZd1ajUNmvTr
https://dl.doubtnut.com/l/_gOD6PGjB6KCM


C. Dehydrating agent

D. Catalyst

Answer:

Watch Video Solution

202. Madhurima added a few iron fillings to 5 mL of

aluminium sulphate  solution in a test tube.

The correct observation for change in colour of solution

by her is

A. colourless soluton turned blue

B. Blue solution turned colourless

C. Pale green solution turned blue

Al2(SO4)3

https://dl.doubtnut.com/l/_gOD6PGjB6KCM
https://dl.doubtnut.com/l/_USdxSCKBvYNi


D. It remains colourless

Answer:

Watch Video Solution

203. Rinku took 10 mL each of two solutions A and B

separately in two test tubes. The solutions were in copper

sulphate and zinc sulphate respectively the colours of the

two solutions were

A. A-pale green, B-colourless

B. A-blue, B-pale green

C. A-colourless, B-blue

D. A-blue, B-colourless

https://dl.doubtnut.com/l/_USdxSCKBvYNi
https://dl.doubtnut.com/l/_46CAIoas7D1G


Answer:

Watch Video Solution

204. Raman took three metals labelled P,Q and R. He

carried out displacement reactions with his salt solutions

and found that P is less reactive than R but more reactive

than Q. The metals P,Q and R respectively could be

A. Zinc, copper, Aluminium

B. Copper, Zinc, Aluminium

C. Aluminium, Copper, Zinc

D. Copper, Aluminium, Zinc

Answer:

https://dl.doubtnut.com/l/_46CAIoas7D1G
https://dl.doubtnut.com/l/_BSwWvIjtGXRp


Watch Video Solution

205. Which of the following is . The colour of the FeSO_4

solutoin would be

A. Dark green

B. Blue

C. Colourless

D. Pale green

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_BSwWvIjtGXRp
https://dl.doubtnut.com/l/_neuRJExx1ULQ


206. Rashmi added aluminium metal to colourless soluton

of zinc sulphate. After half an hour, the solutoin was

observed. It was colourless, she recorded her observations

in the following statements:

No reactions occurred

Reaction occurred and aluminium sulphate was formed.

Zinc is more reactive than aluminium

Aluminium is more reactive than zinc

A. (i),(ii)

B. (ii),(iii)

C. (iii),(iv)

D. (ii),(iv)

Answer:

https://dl.doubtnut.com/l/_TIxoKDD1Irn4


Watch Video Solution

207. Fill in the blanks: 

A. A and B

B. B,C and D

C. A,C and D

D. C and D

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_TIxoKDD1Irn4
https://dl.doubtnut.com/l/_yKkzzGX5pqS8
https://dl.doubtnut.com/l/_CooPo3G5ZR97


208. If iron nails are added in zinc sulphate solution, the

possible observation could be

A. No reaction takes place

B. A silvery white coating appears on iron nails.

C. A black coating appears on iron nails

D. A pale green colour of solutions is seen

Answer:

Watch Video Solution

209. Which of the following statements are correct:

Aluminium can displace

https://dl.doubtnut.com/l/_CooPo3G5ZR97
https://dl.doubtnut.com/l/_PMKmPYwPuyEk


Cu from  solution


Fe from  solution


Zn from  solution


Al from  solution

A. (I),(ii),(iii)

B. (i),(ii),(iv)

C. (ii),(iii),(iv)

D. (i),(iii),(iv)

Answer:

Watch Video Solution

CuSO4

FeSO4

ZnSO4

Al2(SO4)3

https://dl.doubtnut.com/l/_PMKmPYwPuyEk


210. Four test tubed marked I,II,III and IV were taken 20 ml

of  solution in water was poured in each of the

test tube I, an iron nails was put in test tube II, copper

turnings were put in test tube III and a clean aluminium

strip was placed in test tube IV. No change was observed

in any four any in the test tubes. the correct inference

drawn is

A. copper is more reactive than aluminium

B. zinc is more reactive than aluminium

C. Zinc is more reactive copper

D. Zinc, iron and copper are less reactive, than

aluminium.

Al2(SO4)3

https://dl.doubtnut.com/l/_ethT74FV81xD


Answer:

Watch Video Solution

211. Why does calcium metal after reacting with water

starts floating on its surface? Write the chemical

equations for the reaction.

Watch Video Solution

212. Write chemical equations for the following:

Lead carbonate is calcined.

Watch Video Solution

https://dl.doubtnut.com/l/_ethT74FV81xD
https://dl.doubtnut.com/l/_xnPWNtCwyBSF
https://dl.doubtnut.com/l/_fKWufHGxmw9q
https://dl.doubtnut.com/l/_paVQNg3z55oL


213. Write chemical equations for the following:

Chromium oxide is heated with aluminium.

Watch Video Solution

214. Write chemical equations for the rection on Zn

granules with

dil ?

Watch Video Solution

H2SO4

215. Write chemical equations for the rection on Zn

granules with

Sodium hydroxide.

https://dl.doubtnut.com/l/_paVQNg3z55oL
https://dl.doubtnut.com/l/_BwocgIV1L3P6
https://dl.doubtnut.com/l/_b8nJRgHtPEts


Watch Video Solution

216. Write chemical equations for the extraction of copper

from its sulpide ore.

Watch Video Solution

217. When metals are treated with mineral acids, hydrogen

gas is liberated but when metals are treated with ,

hydrogen gas is not liberated why?

Watch Video Solution

HNO3

https://dl.doubtnut.com/l/_b8nJRgHtPEts
https://dl.doubtnut.com/l/_WowZikI1B1Wa
https://dl.doubtnut.com/l/_auhlMUYan5v8


218. A metal that exists as a liquid at room temperature is

obtained by heating its sulphide in the presence of air.

Identify the metals and its ore and give the reaciton

involed.

Watch Video Solution

219. Metals undergo corrosion with water and oxygen

present in air. Write the formula of coating on iron and

copper developd during corrosion.

Watch Video Solution

https://dl.doubtnut.com/l/_BXM9GEx06gO5
https://dl.doubtnut.com/l/_fbyFzmxGAGfz


220. Compelte the reaction:

Watch Video Solution

NaBr + Cl2 →

221. Complete the reaction:

Watch Video Solution

Fe(s) + dilH2SO4 →

222. Name two metals which readily burn in air and two

metals which do not burn.

Watch Video Solution

https://dl.doubtnut.com/l/_wEywxUCkg2CA
https://dl.doubtnut.com/l/_YBGSo1ijHZLA
https://dl.doubtnut.com/l/_6Ci7LV3pUUy2


223. Name one metal which reacts with cold water

Watch Video Solution

224. Name a metal which is extracted by reduction with

aluminium powder.

Watch Video Solution

225. What is the nature of metal oxides?

Watch Video Solution

https://dl.doubtnut.com/l/_fKf3ja7EoY5C
https://dl.doubtnut.com/l/_UrWqwrT20jVb
https://dl.doubtnut.com/l/_PLCPlkR5WSLY


226. Why do non-metals not conduct electricity?

Watch Video Solution

227. Why do shop keepers apply oil on tools made of iron

while storing them?

Watch Video Solution

228. What is difference between minerals and ores?

Watch Video Solution

https://dl.doubtnut.com/l/_QLlJZOhDOOa4
https://dl.doubtnut.com/l/_O3VOLW0uKjCJ
https://dl.doubtnut.com/l/_PVic0ZtFKQpL


229. Define calcination.

Watch Video Solution

230. What is the formula of bauxite?

Watch Video Solution

231. Which of the following reactions is possible?

Watch Video Solution

ZnSO4(aq) + Cu(s) → CuSO4(aq) + Zn(s)

https://dl.doubtnut.com/l/_9Ntao7tXPAse
https://dl.doubtnut.com/l/_c1Q0Yjxr8NoB
https://dl.doubtnut.com/l/_J89YrWxwDaIl


232. Which of the following reactions is possible?

Watch Video Solution

Zn(s) + CuSO4(aq) → ZnSO4(aq) + Cu(s)

233. Pure gold is ………………..carat.

Watch Video Solution

234. What are alloys?

Watch Video Solution

https://dl.doubtnut.com/l/_f7LroNhNI5Vj
https://dl.doubtnut.com/l/_Qe6ZpxFmq3Gt
https://dl.doubtnut.com/l/_elsABVdGv6Y1


235. Define roasting.

Watch Video Solution

236. Name two metals which do not react with oxygen.

Watch Video Solution

237. Explain why surface of some metals acquired a dull

appearance when exposed to air for a long time.

Watch Video Solution

https://dl.doubtnut.com/l/_97n8E5DT2kXS
https://dl.doubtnut.com/l/_pmv2d4hxSU7e
https://dl.doubtnut.com/l/_UZHmuubazDj4


238. What would you observe when zinc is added to a

solution of iron sulphate? Write the chemical reaction

that takes place.

Watch Video Solution

239. Define corrosion of metals?

Watch Video Solution

240. Explain,why

metals are good conductors of heat and electricity?

Watch Video Solution

https://dl.doubtnut.com/l/_Ho7khRc3e8Iu
https://dl.doubtnut.com/l/_33tBDxVNL1RY
https://dl.doubtnut.com/l/_M1bt4sDlxMZK


241. Explain the meaning of malleable and ductile

Watch Video Solution

242. What is meant by a reactivity series of metals?

Arrange the following metals in increasing order of their

reactivities towards water:

zinc, iron,magnesium, sodium.

Watch Video Solution

243. You are given an iron strip. How will you make it into

a magnet?

Watch Video Solution

https://dl.doubtnut.com/l/_FQnFYsys9cxm
https://dl.doubtnut.com/l/_NQBGAoZllDEP
https://dl.doubtnut.com/l/_kbukPFjEBY1m


244. What is difference between minerals and ores?

Watch Video Solution

245. Define the terms 'metallurgy' and 'gangue'.

Watch Video Solution

246. Explain, why carbon can reduce copper but not

calcium oxide to calcium?

Watch Video Solution

https://dl.doubtnut.com/l/_kbukPFjEBY1m
https://dl.doubtnut.com/l/_07PHIM71VpG3
https://dl.doubtnut.com/l/_pDoZLCHyG07Q
https://dl.doubtnut.com/l/_d9H115hHfeGT
https://dl.doubtnut.com/l/_pliZH9Z8N0hW


247. Write the importance of MOET.

Watch Video Solution

248. Write chemical equations for the reactions taking

place at the two electrodes for electrolytic refining of

copper.

Watch Video Solution

249. Write any two differences between morula and

blastula.

Watch Video Solution

https://dl.doubtnut.com/l/_pliZH9Z8N0hW
https://dl.doubtnut.com/l/_UX6YToQLQVYp
https://dl.doubtnut.com/l/_ufBQCut5mY9h
https://dl.doubtnut.com/l/_81TbMmmsD1Ck


250. What happens when aluminium wire is heated in air?

Give equation.

Watch Video Solution

251. How is impure metal refined electrolytically?

Watch Video Solution

252. Explain the meaning of malleable and ductile

Watch Video Solution

253. Why do solids have a definite volume ?

https://dl.doubtnut.com/l/_81TbMmmsD1Ck
https://dl.doubtnut.com/l/_1iQiXJA4V1Rr
https://dl.doubtnut.com/l/_H72pV03eSS0g
https://dl.doubtnut.com/l/_VGOfnxpTiaQo


Watch Video Solution

254. Giving examples, differentiate between roasting and

calcination.

Watch Video Solution

255. Name two metals which will displace hydrogen from

dilute acids, and two metals which will not

Watch Video Solution

256. T/F Carbonate and sulphide ores are usually

converted into oxides.

https://dl.doubtnut.com/l/_VGOfnxpTiaQo
https://dl.doubtnut.com/l/_kxHxoPXu5hgW
https://dl.doubtnut.com/l/_ryCnJpsqzbFT
https://dl.doubtnut.com/l/_rgZ7ygD15lep


Watch Video Solution

257. State two ways to prevent the rusting of iron

Watch Video Solution

258. What is 24 carat gold? How would you convert into 18

carat gold?

Watch Video Solution

259. Sodium amalgam is a mixture of ............. and mercury.

Watch Video Solution

https://dl.doubtnut.com/l/_rgZ7ygD15lep
https://dl.doubtnut.com/l/_MWBsDYCEohdB
https://dl.doubtnut.com/l/_mIz30z6mxVuB
https://dl.doubtnut.com/l/_7DGlhc2lt19x


260. The colour of hydrated copper sulphate is……………and

that of anhydrous copper sulphate is………………..

Watch Video Solution

261. T/F The process of covering iron with Zn is called

galvanization.

Watch Video Solution

262. Fill ups

Out of Al,Zn and Ag only…………..cannot displace hydrogen

form dil. HCl.

Watch Video Solution

https://dl.doubtnut.com/l/_TqHOyoZPPwfQ
https://dl.doubtnut.com/l/_d7X3gnt5F9f5
https://dl.doubtnut.com/l/_FgjoJWYltKox


263. Define the terms metals, non-metals and metaloids.

Give one example in each case.

Watch Video Solution

264. Discuss the reactivity of metals with oxygen with

examples.

Watch Video Solution

265. Give the chemical formula and name of the metals

whose ores are the following:

Bauxite.

https://dl.doubtnut.com/l/_FgjoJWYltKox
https://dl.doubtnut.com/l/_tYrSIPkfQaJN
https://dl.doubtnut.com/l/_FUctI7BHOSpN
https://dl.doubtnut.com/l/_LbyPdUJPqgCQ


Watch Video Solution

266. Give the chemical formula and name of the metals

whose ores are the following:

Limestone.

Watch Video Solution

267. Give the chemical formula and name of the metals

whose ores are the following:

Gypsum

Watch Video Solution

https://dl.doubtnut.com/l/_LbyPdUJPqgCQ
https://dl.doubtnut.com/l/_LRTuhwl2Jy2d
https://dl.doubtnut.com/l/_cagRshyVF3fQ


268. Give the chemical formula and name of the metals

whose ores are the following:

Cryolite

Watch Video Solution

269. Give the chemical formula and name of the metals

whose ores are the following:

Calcite

Watch Video Solution

270. Give the chemical formula and name of the metals

whose ores are the following:

https://dl.doubtnut.com/l/_7Y9B0JmSOAwk
https://dl.doubtnut.com/l/_GIHorYDjGBNY
https://dl.doubtnut.com/l/_wCPqIk8anwc1


Borax

Watch Video Solution

271. Give the chemical formula and name of the metals

whose ores are the following:

Malachite.

Watch Video Solution

272. Give the chemical formula and name of the metals

whose ores are the following:

Magnetite

Watch Video Solution

https://dl.doubtnut.com/l/_wCPqIk8anwc1
https://dl.doubtnut.com/l/_l4gFKeFslIMJ
https://dl.doubtnut.com/l/_76mkT8m1LeGG


273. Give examples of metals which occur in different

types of ores.

Watch Video Solution

274. What do you understand by calcination and

roasting? What are the differences between them?

Watch Video Solution

275. Give an example of each of the following : 

Cube

Watch Video Solution

https://dl.doubtnut.com/l/_jyXOX8cBwVi6
https://dl.doubtnut.com/l/_wwoT5USwNYCV
https://dl.doubtnut.com/l/_ILZv5gfBx9oc


276. Give an example of each of the following : 

Prism

Watch Video Solution

277. Give an example to illustrate the following terms

used in metallurgy:

roasting

Watch Video Solution

278. Give an example of each of the following : 

Prism

Watch Video Solution

https://dl.doubtnut.com/l/_tnkAqHNp0Nry
https://dl.doubtnut.com/l/_eLM6929Voijs
https://dl.doubtnut.com/l/_JZaTR2EEmvYj


279. Name the varioius processes used for refining of

metals. Which method is used for refining of volatile

metals?

Watch Video Solution

280. How are metaloids different from metals? Name a

metalloid.

Watch Video Solution

281. Cupellation process is used in the metallurgy of

Watch Video Solution

https://dl.doubtnut.com/l/_JZaTR2EEmvYj
https://dl.doubtnut.com/l/_ZR1aXG8tf5Dr
https://dl.doubtnut.com/l/_7dA0ctT2hMcj
https://dl.doubtnut.com/l/_bf5YKLM3GK1K


Watch Video Solution

282. The metals Na, k and Ca react with hydrogen to form

hydride but other metals dont.why?

Watch Video Solution

283. Give reasons for the following:

Aluminium easily combines with oxygen but still it can be

usd for making kitchen utensils.

Watch Video Solution

https://dl.doubtnut.com/l/_bf5YKLM3GK1K
https://dl.doubtnut.com/l/_cDs2pRTJ9x8z
https://dl.doubtnut.com/l/_MXsk981pUT9L


284. Give reasons for the following:

Dried fruit plastic bags sold in the market are filled with

nitrogen gas instead of air.

Watch Video Solution

285. Discuss briefly the following:

Radioactive wastes

Watch Video Solution

286. Discuss briefly the following: Ultraviolet B

Watch Video Solution

https://dl.doubtnut.com/l/_bebKUnbNfpV5
https://dl.doubtnut.com/l/_ZObmd3KXkVGe
https://dl.doubtnut.com/l/_9teEeR4S8Uhk


287. Discuss briefly the following: Ultraviolet B

Watch Video Solution

288. Give reasons for the following:

Gold and silver often occur in native state.

Watch Video Solution

289. Give reasons for the following:

Blue colour of copper sulphate solution is destroyed

when iron fillings are added to it.

Watch Video Solution

https://dl.doubtnut.com/l/_9HjQwC5wBdt2
https://dl.doubtnut.com/l/_orawnqke1iqQ
https://dl.doubtnut.com/l/_K5a0WPg6vDag


290. Give reasons for the following:

Sodium metal is stored under kerosene oil.

Watch Video Solution

291. Give reasons for the following:

Silver does not displace hydrogen from dilute acid

solution.

Watch Video Solution

292. Write a short notes on:

Calcination.

Watch Video Solution

https://dl.doubtnut.com/l/_PYjKZlxMqXQq
https://dl.doubtnut.com/l/_UsUIbZ0RdS2e
https://dl.doubtnut.com/l/_olFqIFtrNzu7


293. Write a short notes on:

Thermite process.

Watch Video Solution

294. Write a short notes on:

Froth floatation process.

Watch Video Solution

295. An ore on heating in air from sulphur dioxide. Name

the process than can be used for concentration of this

ore. Explain the principle of this process.

https://dl.doubtnut.com/l/_olFqIFtrNzu7
https://dl.doubtnut.com/l/_YGE9d13oWqRw
https://dl.doubtnut.com/l/_7Qw91S1fY0W1
https://dl.doubtnut.com/l/_Kd2LkEtYs3Vl


Watch Video Solution

296. Distinguish between:

alloy and amalgam

Watch Video Solution

297. What is difference between minerals and ores?

Watch Video Solution

298. Distinguish between roasting and calcination. Which

of these two is used for sulphide ores and why?

Watch Video Solution

https://dl.doubtnut.com/l/_Kd2LkEtYs3Vl
https://dl.doubtnut.com/l/_ZFVp4xkHi8Pi
https://dl.doubtnut.com/l/_Oec8tw5OfnYS
https://dl.doubtnut.com/l/_ptXSDYKjKomS


Watch Video Solution

299. An alloy of yellw colour is made of two metals a and

b.when alloy a was dipped in dilute sulphuric acid, a layer

dissolved in acid and formed colourless soltution b did

not dissolve in it and the surface of alloy attained red

brown colour what is a b?

Watch Video Solution

300. Give six characterstic differences between metals and

non-metals.

Watch Video Solution

https://dl.doubtnut.com/l/_ptXSDYKjKomS
https://dl.doubtnut.com/l/_nyIatNb2ggv6
https://dl.doubtnut.com/l/_N2BWv8Lhfzgh
https://dl.doubtnut.com/l/_NkerTEAp9OAY


301. Discuss the different methods of preparation and

properties of dioxygen.

Watch Video Solution

302. What is corrosion of metals? Name one metal which

does not corrode and one which corrodes on being kept

in atmosphere.

Watch Video Solution

303. How will you show that rusting of iron metals takes

place in oxygen and moisture at the same time.

Watch Video Solution

https://dl.doubtnut.com/l/_NkerTEAp9OAY
https://dl.doubtnut.com/l/_1yYcdvrzmxcZ
https://dl.doubtnut.com/l/_U9iNvn99QbBS


304. What is meant by a reactivity series of metals?

Arrange the following metals in increasing order of their

reactivities towards water:

zinc, iron,magnesium, sodium.

Watch Video Solution

305. what happen when a piece of zinc is added to copper

sulphate solution?

Watch Video Solution

306. What would you observe when you put

Some copper pieces into green ferrous sulphate solution.

https://dl.doubtnut.com/l/_9C2v0So4iS01
https://dl.doubtnut.com/l/_mb2qXpoMlMl0
https://dl.doubtnut.com/l/_VQjKw5QBtiaO


Watch Video Solution

307. Name a metals which combines with hydrogen gas.

Name the compounds formed?

Watch Video Solution

308. Which of the following property is generally not

shown by metals?

A. Electrical conduction

B. sonorous in nature

C. dullness

D. Ductility

https://dl.doubtnut.com/l/_VQjKw5QBtiaO
https://dl.doubtnut.com/l/_1F1YPK5IBViL
https://dl.doubtnut.com/l/_82kZIMyxyHhx


Answer:

Watch Video Solution

309. The ability of metals to be drawn into thin wire is

known as

A. ductility

B. malleability

C. sonorousity

D. conductivity

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_82kZIMyxyHhx
https://dl.doubtnut.com/l/_6IhfGsVXLKrj


310. Aluminium is used for making cooking utensils. Which

of the following properties of aluminium are responsible

for the same?

Good thermal conductivity

Good electrical conductivity

Ductility

High melting point

A. (i) and (ii)

B. (i) and (iii)

C. (ii) and (iii)

D. (i) and (iv)

Answer:

W t h Vid S l ti

https://dl.doubtnut.com/l/_MLL20Dnlf0xX


Watch Video Solution

311. Which of the following donot react with cold as well

as hot water:

Fe,Mg,Al,K,Ca

A. Na

B. Ca

C. Mg

D. Fe

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_MLL20Dnlf0xX
https://dl.doubtnut.com/l/_Sm0OPNekn0vZ


312. Which of the following oxide of iron would be

obtained on prolonged reaction of iron with steam?

A. FeO

B. 

C. 

D.  and 

Answer:

Watch Video Solution

Fe2O3

Fe3O4

Fe2O3 Fe3O4

313. What happens when calcium is treated with water?

It does not react with water

https://dl.doubtnut.com/l/_kosL7rzYlrag
https://dl.doubtnut.com/l/_SGfXE1uNL0gn


It reacts violently with water

It reacts less violently with water

Bubbles of hydrogen gas formed stick to be surface of

calcium

A. (i) and (iv)

B. (ii) and (iii)

C. (i) and (ii)

D. (iii) and (iv)

Answer:

Watch Video Solution

314. Which of the following does not give iodoform test ?

https://dl.doubtnut.com/l/_SGfXE1uNL0gn
https://dl.doubtnut.com/l/_cMuG3X9Qw0yP


A. 

B. HCl

C. 

D. All of these

Answer:

Watch Video Solution

H2SO4

HNO3

315. The compostion of aqua regia is

A. 

B. 

C. 

Dil. HCl
3

:Conc. HNO3
1

Conc. HCl
3

:Dil. HNO3
1

Conc. HCl
3

:Conc. HNO3
1

https://dl.doubtnut.com/l/_cMuG3X9Qw0yP
https://dl.doubtnut.com/l/_L1zHYe6CfkS8


D. 

Answer:

Watch Video Solution

Dil. HCl
3

:Dil. HNO3
1

316. Which of the following are not a unit of time?

A. (i) and (ii)

B. (iii)

C. (iii) and (iv)

D. (i) and (iii)

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_L1zHYe6CfkS8
https://dl.doubtnut.com/l/_5hsGQeUTBHm7


317. Which one of the following properties is not generally

exhibted by ionic compounds?

A. Solubility in water

B. Electrical conductivity in solid state

C. High melting and boiling points

D. Electrical conductivity in molten state

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_5hsGQeUTBHm7
https://dl.doubtnut.com/l/_CXhDOgIef18n


318. Which of the follwong metals exist in their native

state in nature?

Cu, Au, Zn,Ag

A. (i)( and (ii)

B. (ii) and (iii)

C. (ii) and (iv)

D. (iii) and (iv)

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_zrT388KZBtud


319. Electrolytic refining is used to purify which of the

following metals ?

A. (i) and (ii)

B. (i) and (iii)

C. (ii) and (iii)

D. (iii) and (iv)

Answer:

Watch Video Solution

320. Silver articles become black on prolonged exposure

to air. This is due to the formation of

https://dl.doubtnut.com/l/_32blh8Vlmdxg
https://dl.doubtnut.com/l/_8GOh9IZ98LGp


A. 

B. 

C. 

D.  and 

Answer:

Watch Video Solution

Ag3N

Ag2O

Ag2S

Ag2S Ag3N

321. Galvanisation is a method of protecting iron from

rusting by coating with a thin layer of

A. Gallim

B. Aluminium

https://dl.doubtnut.com/l/_8GOh9IZ98LGp
https://dl.doubtnut.com/l/_I55GCv7V31Ll


C. Zinc

D. Silver

Answer:

Watch Video Solution

322. Stainless steel is very useful material for our life. In

stainless steeel, iron is mixed with

A. Ni and Cr

B. Cu and Cr

C. Ni and Cu

D. Cu and Au

https://dl.doubtnut.com/l/_I55GCv7V31Ll
https://dl.doubtnut.com/l/_4pCngFy4KjI1


Answer:

Watch Video Solution

323. If copper is kept open in air, it slowly loses its shining

brown surface and gains a green coating. It is due to the

formation of

A. 

B. 

C. 

D. CuO

Answer:

Watch Video Solution

CuSO4

CuCO3

Cu(NO3)2

https://dl.doubtnut.com/l/_4pCngFy4KjI1
https://dl.doubtnut.com/l/_3hYIWgGN0vtl


Watch Video Solution

324. Generally, metals are solid in nature. Which one of

the following metals is found in liquid state at room

temperature?

A. Na

B. Fe

C. Cr

D. Hg

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_3hYIWgGN0vtl
https://dl.doubtnut.com/l/_T45rM090Atyx


325. Which one of the following metals can not be

obtained on electrolysis of aqueous solution of its salts?

A. (i) and (iv)

B. (iii) and (iv)

C. (i) and (iii)

D. (i) and (ii)

Answer:

Watch Video Solution

326. Generally non-metals are not lustrous. Which of the

following non-metal is lustrous?

https://dl.doubtnut.com/l/_FyI84I2GLSaC
https://dl.doubtnut.com/l/_cxsDHtN7asD9


A. Sulphur

B. Oxygen

C. Nitrogen

D. Iodine

Answer:

Watch Video Solution

327. Which one of the following four metals would be

displaced from the solution of its salt by other three

metals?

A. Mg

https://dl.doubtnut.com/l/_cxsDHtN7asD9
https://dl.doubtnut.com/l/_wRFxZ9U6PFzp


B. Ag

C. Zn

D. Cu

Answer:

Watch Video Solution

328. 2mL each of concentrated HCl,  and a mixture

of concentrated HCl and concentrated  in the ratio

of 3:1 were taken in test tubes labelled as A,B and C. A

small piece of metal was put in each test tube. No change

occurred in test tubes A and B but the metal got

dissolced in test tube C respectively. the metal could be

HNO3

HNO3

https://dl.doubtnut.com/l/_wRFxZ9U6PFzp
https://dl.doubtnut.com/l/_oIM63qozphDO


A. Al

B. Au

C. Cu

D. Pt

Answer:

Watch Video Solution

329. An alloy is

A. an element

B. a compound

C. a homogeneous mixture

https://dl.doubtnut.com/l/_oIM63qozphDO
https://dl.doubtnut.com/l/_wg0NMT7yZSTI


D. a heterogeneous mixture

Answer:

Watch Video Solution

330. An electrolytic cell consists of

positively charged cathode, negatively charged

anode,positively charged anode, negatively charged

cathode

A. (i) and (ii)

B. (iii) and (iv)

C. (i) and (iii)

D. (ii) and (iv)

https://dl.doubtnut.com/l/_wg0NMT7yZSTI
https://dl.doubtnut.com/l/_Iy6BbHiN6gJJ


Answer:

Watch Video Solution

331. During electrolytic refining of zinc, it gets

A. depostied on cathode

B. deposited on anode

C. deposited on cathode as well as andoe

D. remains in the solution.

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_Iy6BbHiN6gJJ
https://dl.doubtnut.com/l/_qut1VA5Fq7QS
https://dl.doubtnut.com/l/_hFEGp5t6xt8V


332. Which of the following metal can be cut with a knife?

A. Mg

B. Na

C. P

D. Ca

Answer:

Watch Video Solution

333. Which among the following alloys contain mercury as

one of its constituents?

A. Brass

https://dl.doubtnut.com/l/_hFEGp5t6xt8V
https://dl.doubtnut.com/l/_87KnD1hBR6ky


B. Bronze

C. Amalgm

D. Steel

Answer:

Watch Video Solution

334. Which among the following statements is incorrect

for magnesium metal?

A. It burns in oxgen with a dazzling white flame

B. It reacts with cold water to form magnesium oxide

and evolves hydrogen gas.

https://dl.doubtnut.com/l/_87KnD1hBR6ky
https://dl.doubtnut.com/l/_FKQR5rA5jd08


C. It reacts with steam to form magnesium hydroxide

and evolves hydrogen gas

D. It reacts with hot water to form magnesium

hydroxide and evolves hydrogen gas.

Answer:

Watch Video Solution

335. Which among the following alloys contain mercury as

one of its constituents?

A. Stainless steeel

B. Alnico

https://dl.doubtnut.com/l/_FKQR5rA5jd08
https://dl.doubtnut.com/l/_qrPQ8IWFdMzM


C. Solder

D. Zinc amalgam

Answer:

Watch Video Solution

336. Reaction between X and Y forms compound Z. X loses

electron and Y gains electron. Which of the following

properties is not shown by Z?

A. Has high melting poin

B. Has low melting point

C. Condutcs electricity in molten state

https://dl.doubtnut.com/l/_qrPQ8IWFdMzM
https://dl.doubtnut.com/l/_vwZbObK7omN2


D. Occurs as solid

Answer:

Watch Video Solution

337. The electronic configurations of three elements X,Y

and Z are X-2,8, Y-2, 8,7 and z-2,8,2. Which of the following

is correct?

A. X is a metal

B. Y is a metal

C. Z is a non-metal

D. Y is a non-metal and Z is a metal

https://dl.doubtnut.com/l/_vwZbObK7omN2
https://dl.doubtnut.com/l/_yfNnfKCkHV1j


Answer:

Watch Video Solution

338. Although metals from basic oxides, which of the

following metals form an amphoteric oxide?

A. Na

B. Ca

C. Al

D. Cu

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_yfNnfKCkHV1j
https://dl.doubtnut.com/l/_iMwcFF5Zz94s


339. Generally non metals are not conductors of

electricity. Which of the following is a good conductor of

electricity?

A. Diamond

B. Graphite

C. Sulphur

D. Fullerene

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_x94Rcsja1OP4


340. Electrical wires have a coating of an insulating

material. The material, generally used is

A. Sulphur

B. Graphite

C. PVC

D. All can be used

Answer:

Watch Video Solution

341. Which of the following non-metals is a liquid?

https://dl.doubtnut.com/l/_UPrXBPxeDh8D
https://dl.doubtnut.com/l/_Tk4zM8zjWK8C


A. Carbon

B. Bromine

C. Phosphorus

D. Sulphur

Answer:

Watch Video Solution

342. Which of the following can undergo a chemical

reaction?

A. 

B. 

MgSO4 + Fe

ZnSO4 + Fe

https://dl.doubtnut.com/l/_Tk4zM8zjWK8C
https://dl.doubtnut.com/l/_YbwTkNxTEVR1


C. 

D. 

Answer:

Watch Video Solution

MgSO4 + Pb

CuSO4 + Fe

343. Which one of the following is correctly paired?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_YbwTkNxTEVR1
https://dl.doubtnut.com/l/_TiAVWWi0k70g


D. 

Answer:

Watch Video Solution

344. The most malleable metal is

A. Sodium

B. Silicon

C. Gold

D. Lead

Answer:

https://dl.doubtnut.com/l/_TiAVWWi0k70g
https://dl.doubtnut.com/l/_n39PD3IyJB8O


Watch Video Solution

345. Cinnabar is an ore of

A. Mercury

B. Copper

C. Calcium

D. Lead

Answer:

Watch Video Solution

346. Which metal is the consituent of haemoglobin?

https://dl.doubtnut.com/l/_n39PD3IyJB8O
https://dl.doubtnut.com/l/_pv9KtF7gcpF5
https://dl.doubtnut.com/l/_gva2dcZqIfvR


A. Iron

B. Sodium

C. Copper

D. Magnesium

Answer:

Watch Video Solution

347. The liquid non-metal is

A. Mercury

B. Bromine

C. silicon

https://dl.doubtnut.com/l/_gva2dcZqIfvR
https://dl.doubtnut.com/l/_JNKzcaYy0seu


D. Sulphur

Answer:

Watch Video Solution

348. Pure gold is equal to

A. 24 carat

B. 100 carat

C. 22 carat

D. 1000 carat

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_JNKzcaYy0seu
https://dl.doubtnut.com/l/_zV9V5mGIiS00


349. Mg dissolves in hot water to form

A. MgO

B. 

C. MgOH

D. 

Answer:

Watch Video Solution

Mg(OH)2

MgO. Mg(OH)2

350. ……………are alloys of iron, aluminium, Nickel and cobalt

https://dl.doubtnut.com/l/_zV9V5mGIiS00
https://dl.doubtnut.com/l/_5MJdT1kqRnr6
https://dl.doubtnut.com/l/_uTa8r4NGi385


A. Brass

B. Bronze

C. Solder

D. Alnicos

Answer:

Watch Video Solution

351. ……………..exists as a dimer.

Watch Video Solution

https://dl.doubtnut.com/l/_uTa8r4NGi385
https://dl.doubtnut.com/l/_mlpT37d6b2Rf


352. Which of the following metals is less reactive than

hydrogen?

A. Copper

B. zinc

C. Magnesium

D. Lead

Answer:

Watch Video Solution

353. Which of the following metals reacts vigorously with

oxygen?

https://dl.doubtnut.com/l/_PKrv6YDtzxmN
https://dl.doubtnut.com/l/_Equ0Ic6yNqar


A. Zinc

B. Magnesium

C. Sodium

D. Copper

Answer:

Watch Video Solution

354. Which of the following is least reactive with dil. HCl?

A. Copper

B. Zinc

C. Magnesium

https://dl.doubtnut.com/l/_Equ0Ic6yNqar
https://dl.doubtnut.com/l/_CbTY3o6EfQms


D. Sodium

Answer:

Watch Video Solution

355. Which metal is used for making foils used in packing

of food materials?

A. Copper

B. Platinum

C. aluminium

D. sodium

Answer:

https://dl.doubtnut.com/l/_CbTY3o6EfQms
https://dl.doubtnut.com/l/_feke48vaovlT


Watch Video Solution

356. Which of the following is the sulphide ore of copper?

A. Azurite

B. Copper glance

C. Cuprite

D. Malachite

Answer:

Watch Video Solution

357. The liquid non-metal is

https://dl.doubtnut.com/l/_feke48vaovlT
https://dl.doubtnut.com/l/_Fujp5e3sS1RC
https://dl.doubtnut.com/l/_AecW48RDoZ7u


A. Mercury

B. Silicon

C. Hydrogen

D. Bromine

Answer:

Watch Video Solution

358. The phenomenone of produing a charaterstics sound

when a material is struck on the metallic surface is

A. Ductility

B. Malleability

https://dl.doubtnut.com/l/_AecW48RDoZ7u
https://dl.doubtnut.com/l/_rKUN1x8mfXli


C. Sonarity

D. Conductivity

Answer:

Watch Video Solution

359. Copper reacts with dilute nitric acid and liberates

A. Nitroen dioxde

B. Nitric oxide

C. Nitrogen pentoxide

D. Nitrous oxide

Answer:

https://dl.doubtnut.com/l/_rKUN1x8mfXli
https://dl.doubtnut.com/l/_bHMa6nvBU7dB


Watch Video Solution

360. Which of the following metals will change blue colour

of copper sulphate solution ?

A. Ag

B. Hg

C. Zn

D. Au

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_bHMa6nvBU7dB
https://dl.doubtnut.com/l/_A5QelGxgAI1e


361. Most abundant metal on the surface of earth is:

A. Aluminim

B. Iron

C. Oxygen

D. Copper

Answer:

Watch Video Solution

362. The second most abundant metal present in the

crust of the earth is

https://dl.doubtnut.com/l/_t5djaEDqgtf6
https://dl.doubtnut.com/l/_Nljg6RJUx6CF


A. calcium

B. aluminium

C. copper

D. iron

Answer:

Watch Video Solution

363. Chemical formula of cryolite is

A. 

B. 

C. 

Al2O3. 2H2O

Na2AlF6

Na3AlF6

https://dl.doubtnut.com/l/_Nljg6RJUx6CF
https://dl.doubtnut.com/l/_xgPABTLodF4q


D. 

Answer:

Watch Video Solution

NaAlF3

364. Which of the following reactions cannot occurs?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

2AgN3(aq) + Fe(s) → Fe(NO3)2(aq) + 2Ag(s)

CuSO4(aq) + Zn(s) → ZnSO4(aq) + Cu(s)

CuSO4(aq) + 2Ag(s) → Cu(s) + Ag2SO4(aq)

2AgNO3(aq) + Zn(s) → ZnSO4(aq) + 2Ag(s)

https://dl.doubtnut.com/l/_xgPABTLodF4q
https://dl.doubtnut.com/l/_4etxQZSYpCUC


365. The liquid metals is

A. Bismusth

B. Magnesium

C. Mercury

D. Sodium

Answer:

Watch Video Solution

366. Which one of the following statements is incorrect?

https://dl.doubtnut.com/l/_4etxQZSYpCUC
https://dl.doubtnut.com/l/_hSuUiC2Haquu
https://dl.doubtnut.com/l/_zPf13x01Gb5k


A. (i),(iii)

B. (ii),(iii)

C. (i),(iv)

D. (iii) and (iv)

Answer:

Watch Video Solution

367. Consider the following displacement reactions:










Which of the following statement is correct?

A + BSO4 → ASO4 + B

C + ASO4 → CSO4 + A

B + CSO4 → BSO4 + C

https://dl.doubtnut.com/l/_zPf13x01Gb5k
https://dl.doubtnut.com/l/_loSSLIIMjzTp


A. B is more reactive than A but less than reactive than

C

B. A is most reactive among A,B and C

C. B is more reactive than C but less reactive than A

D. C is more reactive than C but less reactive than A.

Answer:

Watch Video Solution

368. Which of the following statements are correct?

Graphite is non-metallic, yet it conducts electricity

Iron does not react with  even on heating


Zinc can displace Fe as well as Cu from their aqueous

O2

https://dl.doubtnut.com/l/_loSSLIIMjzTp
https://dl.doubtnut.com/l/_hUvkW5E87nWU


solutions

gold cannot dissolve even in aqua-regia

A. (i) and (ii)

B. i) and (iii)

C. (i) and (iv)

D. (ii) and (iii)

Answer:

Watch Video Solution

369. An essential element of amalgam is

A. Sodium

https://dl.doubtnut.com/l/_hUvkW5E87nWU
https://dl.doubtnut.com/l/_tXkfoTnQ0U9e


B. Silver

C. Mercury

D. Aluminium

Answer:

Watch Video Solution

370. Which of the following metal can be cut with a knife?

A. Gold

B. Sodium

C. Zinc

D. Amalgam

https://dl.doubtnut.com/l/_tXkfoTnQ0U9e
https://dl.doubtnut.com/l/_PxciclvVBL1Y


Answer:

Watch Video Solution

371. Why are metals used for making wires ?

A. Nitrogen

B. Graphite

C. PHosphorus

D. Sulphur

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_PxciclvVBL1Y
https://dl.doubtnut.com/l/_PUmTRLPmihNx
https://dl.doubtnut.com/l/_8ZeqAfcJ3POZ


372. The non-metal which occurs in solid at room

temperature are

A. Bromine and iodine

B. Nitrogen and phosphrous

C. Carbon and sulphur

D. Iodine and nitrogen

Answer:

Watch Video Solution

373. Rusting of iron takes place in

A. Ordinary water

https://dl.doubtnut.com/l/_8ZeqAfcJ3POZ
https://dl.doubtnut.com/l/_31crGSC6ap91


B. distilled water

C. both ordinary and distilled water

D. none of the above

Answer:

Watch Video Solution

374. A metal which does not liberate hydroge gas on

reaction with acids is

A. Cu

B. Fe

C. Mn

https://dl.doubtnut.com/l/_31crGSC6ap91
https://dl.doubtnut.com/l/_qHeyXXtO2xe8


D. Zn

Answer:

Watch Video Solution

375. Silver articles turn black after a perios of time

because of the formation of

A. silver oxide

B. silver sulphide

C. silver chloride

D. silver nitrate

Answer:

https://dl.doubtnut.com/l/_qHeyXXtO2xe8
https://dl.doubtnut.com/l/_JcNj1ycgLfrq


Watch Video Solution

376. In the galvanization process, iron articles are coated

with

A. Mg

B. Zn

C. Al

D. Ag

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_JcNj1ycgLfrq
https://dl.doubtnut.com/l/_z0XATexJ6ZQP


377. Which of the following is correct reactivity series?

A. Na,Mg,Al,Cu

B. Mg,Na,Al,Cu

C. Na,Mg,Cu,Al

D. Mg,Al,Na,Cu

Answer:

Watch Video Solution

378. Compelte the reaction:

Mg(s) + H2SO4(aq) →

https://dl.doubtnut.com/l/_rrDvupWkumBm
https://dl.doubtnut.com/l/_o0n1AHptTPbM


A. 

B. 

C. 

D. no reaction

Answer:

Watch Video Solution

MgSO4 + H2O

MgSO4 + H2 + O2

MgSO4 + H2

379. Which of the following methods is suitable for

preventing an iron frying pan from rusting:

A. applying grease

B. applying paints

https://dl.doubtnut.com/l/_o0n1AHptTPbM
https://dl.doubtnut.com/l/_US1fuqznVWK2


C. Applying a coating of zinc

D. All of the above

Answer:

Watch Video Solution

380. Copper corrodes in moist air and changes to

A. red 

B. black CuO

C. green 

D. green 

Answer:

Cu2O

CuCl2

CuCO3. Cu(OH)2

https://dl.doubtnut.com/l/_US1fuqznVWK2
https://dl.doubtnut.com/l/_mrRLRvM32jcM


Watch Video Solution

381. Brass contains

A. Cu and Sn

B. Cu and Ni

C. Cu and Zn

D. Mg and Al

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_mrRLRvM32jcM
https://dl.doubtnut.com/l/_cjBCe8cSLcPw


382. A metal which does not liberate hydroge gas on

reaction with acids is

A. Cu

B. Fe

C. Mn

D. Zn

Answer:

Watch Video Solution

383. A metal occurs in nature as its ore X which on heating

in air converts to Y. Y reacts with unreacted X to give the

https://dl.doubtnut.com/l/_9b0kEf3KdiLY
https://dl.doubtnut.com/l/_4rHs7fEHKmwQ


metal. The metal is

A. Hg

B. Cu

C. Zn

D. Fe

Answer:

Watch Video Solution

384. In the reaction : 

A. Zing gets oxidised

Zn + FeSO4 → ZnSO4 + Fe

https://dl.doubtnut.com/l/_4rHs7fEHKmwQ
https://dl.doubtnut.com/l/_LRf6awXkuOmf


B. Zinc is an oxidising agent

C. Fe gets oxidised

D. Zn and Fe both get oxidised.

Answer:

Watch Video Solution

385. Which of the following donot react with cold as well

as hot water:

Fe,Mg,Al,K,Ca

A. Na

B. Ca

https://dl.doubtnut.com/l/_LRf6awXkuOmf
https://dl.doubtnut.com/l/_Mxnj4RqbbE8s


C. Mg

D. Fe

Answer:

Watch Video Solution

386. The ability of metals to be drawn into thin wire is

known as

A. dectility

B. malleability

C. sonorousity

D. conductivity

https://dl.doubtnut.com/l/_Mxnj4RqbbE8s
https://dl.doubtnut.com/l/_hCaMsGprjN1P


Answer:

Watch Video Solution

387. Generally, metals are solid in nature. Which one of the

following metals is found in liquid state at room

temperature?

A. Na

B. Fe

C. Cr

D. Hg

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_hCaMsGprjN1P
https://dl.doubtnut.com/l/_w8bsBIldWavX


Watch Video Solution

388. Reaction between X and Y forms compound Z. X loses

electron and Y gains electron. Which of the following

properties is not shown by Z?

A. Has high melting poin

B. Has low melting point

C. Condutcs electricity in molten state

D. Occurs as solid

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_w8bsBIldWavX
https://dl.doubtnut.com/l/_isioLMcS9Fp4


389. Although metals from basic oxides, which of the

following metals form an amphoteric oxide?

A. Na

B. Ca

C. Al

D. Cu

Answer:

Watch Video Solution

390. Which of the following non-metals is a liquid?

https://dl.doubtnut.com/l/_c8K7nrHvHJ98
https://dl.doubtnut.com/l/_xGrzBREjwtas


A. Carbon

B. Bromine

C. Phosphorus

D. Sulphur

Answer:

Watch Video Solution

391. Consider the following displacement reactions:










Which of the following statement is correct?

A + BSO4 → ASO4 + B

C + ASO4 → CSO4 + A

B + CSO4 → BSO4 + C

https://dl.doubtnut.com/l/_xGrzBREjwtas
https://dl.doubtnut.com/l/_izX6jIdRgEm1


A. B is more reactive than A but less than reactive than

C

B. A is most reactive among A,B and C

C. B is more reactive than both A and C

D. C is more reactive than C but less reactive than A.

Answer:

Watch Video Solution

392. Which of the following reactions cannot occurs?

A. 

2AgNO3(aq) + Fe(s) → Fe(NO3)2(Aq) + 2Ag(s)

https://dl.doubtnut.com/l/_izX6jIdRgEm1
https://dl.doubtnut.com/l/_jVqdh4wqnxFC


B. 

C. 

D. 

Answer:

Watch Video Solution

CuSO4 + Zn(s) → ZnSO4(aq) + Cu(s)

CuSO4(Aq) + 2Ag(s) → Cu(s) + Ag2SO4(aq)

2AgNO3(aq) + Zn(s) → ZnSO4(aq) + 2Ag(s)

393. Chemical formula of cryolite is

A. 

B. 

C. 

D. 

Al2O3. 2H2O

Na3AlF6

Na2AlF6

NaAlF3

https://dl.doubtnut.com/l/_jVqdh4wqnxFC
https://dl.doubtnut.com/l/_TOdpv98RvnWV


Answer:

Watch Video Solution

394. Which of the following is the sulphide ore of copper?

A. Azurite

B. Copper glance

C. Cuprite

D. Malachite

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_TOdpv98RvnWV
https://dl.doubtnut.com/l/_HO4mZHn9A7c4
https://dl.doubtnut.com/l/_0HW5YOLvXPvi


395. True/false

Gold dissolves in aqua regia.

Watch Video Solution

396. T/F Rust is 

Watch Video Solution

Fe2O3. xH2O

397. Sulphide ores are concentrated by froth floatation

process.

Watch Video Solution

https://dl.doubtnut.com/l/_0HW5YOLvXPvi
https://dl.doubtnut.com/l/_5y7sZhBVZYLt
https://dl.doubtnut.com/l/_bUfpCvaJeLQD


398. True/false

the alloy invar contains iron and aluminium.

Watch Video Solution

399. Can copper displace iron from iron sulphate

solution? Give reasons.

Watch Video Solution

400. The rockey material found with ores is known

as…………….

Watch Video Solution

https://dl.doubtnut.com/l/_JyiFgM5OvIcX
https://dl.doubtnut.com/l/_twcllbzEOnoy
https://dl.doubtnut.com/l/_3NQnPmxPSyn5


401. Fill ups

Most oxides of metal are………………in nature.

Watch Video Solution

402. Fill ups

the percentage of gold in 22 carat gold is………….. .

Watch Video Solution

403. Fill ups

In galvanisation iron is protected by the coating of………….. .

Watch Video Solution

https://dl.doubtnut.com/l/_bk3tnmlKD56h
https://dl.doubtnut.com/l/_rOvLJUCRLpXO
https://dl.doubtnut.com/l/_ARcQy1alAn42


404. In the electrorefining of copper,some gold is

deposited as:

Watch Video Solution

405. Why ae metals called electropositive elements and

non-metals called electronegative elements?

Watch Video Solution

406. Which of the two metals copper and silver is more

reactive?

Watch Video Solution

https://dl.doubtnut.com/l/_edWGv3T7q3Rd
https://dl.doubtnut.com/l/_xmHRCVHPkMzP
https://dl.doubtnut.com/l/_wmbx8dXlbuyQ


407. Name two metals which react with dilute nitric acid

to produce hydrogen gas.

Watch Video Solution

408. Give one example of each of metal that is good

conductor of electricity and metal that is poor conductor

of electricity.

Watch Video Solution

409. An element M forms an oxide . Which is acidic

in nature. State whether the element M is a metal or a

non-metal.

M2O3

https://dl.doubtnut.com/l/_BbvqbtxGSXNB
https://dl.doubtnut.com/l/_BlnlcKEQWkBj
https://dl.doubtnut.com/l/_14ziJYySnEMz


Watch Video Solution

410. A solution of  was kept in an iron pot. After a

few days the iron pot was found to have a number of

holes in it. Explain the reasons in terms of reactivity. Write

the equations of the reaction involved.

Watch Video Solution

CuSO4

411. Define calcination and roasting.

Watch Video Solution

https://dl.doubtnut.com/l/_14ziJYySnEMz
https://dl.doubtnut.com/l/_f9xQ1V4KNuaX
https://dl.doubtnut.com/l/_wj02d2YaQhGj


412. What would happen to iron railings on the roadside if

they are not painted? Why does it happen so?

Watch Video Solution

413. Explain the following:

Carbon cannot reduce the oxides of Na and Mg.

Watch Video Solution

414. Explain the following:

Reactivity of Al decreases if it is dipped in .

Watch Video Solution

HNO3

https://dl.doubtnut.com/l/_TfU3jnUY7faA
https://dl.doubtnut.com/l/_i9mqiKGjP3RP
https://dl.doubtnut.com/l/_aXX9067yVY5X


415. Explain the following:

Titanium is a strategic metal.

Watch Video Solution

416. A,B and C are three elements which undergo chemical

changes according to following equations:







Which of these is least reactive.

Watch Video Solution

A2O3 + 2B → B2O3 + 2A

3CuSO4 + 2B → B2(SO4)3 + 3C

3CO + 2A → A2O3 + 3C

https://dl.doubtnut.com/l/_sLuWgfH5v4Me
https://dl.doubtnut.com/l/_ToNRFdyAcY2M


417. A,B and C are three elements which undergo chemical

changes according to following equations:







Which of these is least reactive.

Watch Video Solution

A2O3 + 2B → B2O3 + 2A

3CuSO4 + 2B → B2(SO4)3 + 3C

3CO + 2A → A2O3 + 3C

418. Consider the following reactions : 

(i)  


(ii)  

Arrange the metals A,B,C in the decreasing order of

reactivity.

A + BSO4 → aSO4 + B

B + 2CNO3 → B(NO3)2 + 2C

https://dl.doubtnut.com/l/_iNE7IoeqIMes
https://dl.doubtnut.com/l/_r5EWqAGeTw0X


Watch Video Solution

419. With the help of diagram show the transfer of

electrons between the atoms in the formation of MgO.

Watch Video Solution

420. Why are ionic compounds usually hard?

Watch Video Solution

421. Ionic solids conduct electricity in the molten state

but not in the solid state. Explain.

Watch Video Solution

https://dl.doubtnut.com/l/_r5EWqAGeTw0X
https://dl.doubtnut.com/l/_Cqz4ts6MDhBs
https://dl.doubtnut.com/l/_v8rLplzDtwGp
https://dl.doubtnut.com/l/_v4gL6PKasdyj


422. Name the solvent in which ionic compounds are

generally soluble.

Watch Video Solution

423. Zinc granules are placed in each of the four solutions

A,B,C and D as shown. Colour change would be observed

in

https://dl.doubtnut.com/l/_v4gL6PKasdyj
https://dl.doubtnut.com/l/_bqYlhlINMAbR
https://dl.doubtnut.com/l/_HeaywmUKDnZ4


A. A and B

B. C and D

C. A and C

D. B and D

Answer:

Watch Video Solution

424. Which of the following reaction does not occur:

A. 

B. 

Zn + CuSO4(aq) → ZnSO4(aq) + Cu(s)

Fe + CuSO4(aq) → Cu(s) + FeSO4(aq)

https://dl.doubtnut.com/l/_HeaywmUKDnZ4
https://dl.doubtnut.com/l/_BINHZ6dCtSXK


C. 

D. 

Answer:

Watch Video Solution

2AgNO3 ∣ (aq) + Cu(s) → Cu(NO3)2(aq) + 2Ag(s)

Fe + ZnSO4(aq) → FeSO4(aq) + Zn

425. Ferrous sulphate crystals are dissolved in water. The

colour of the solution is

A. Dark green

B. blue

C. Colourless

https://dl.doubtnut.com/l/_BINHZ6dCtSXK
https://dl.doubtnut.com/l/_PjiLpSoxiS9c


D. Pale green

Answer:

Watch Video Solution

426. Two beakers A and B contain iron sulphate solution.

In beaker A, a small piece of copper and in beaker B in a

small piece of zinc are placed. It is found that after some

time a grey deposite forms on zinc but not on copper.

From these observations it can be concluded that:

A. Zinc is most active metal followed by iron and then

copper

https://dl.doubtnut.com/l/_PjiLpSoxiS9c
https://dl.doubtnut.com/l/_EOH0s71XHDw2


B. Zinc is most active metal followed by copper and

then iron.

C. Iron is most active metal followed by zinc and then

copper.

D. Iron is most active metal followed by copper and

then zinc.

Answer:

Watch Video Solution

427. Write chemical equatoins for this following reactions.

Zinc carbonate is heated in the absence of air.

Watch Video Solution

https://dl.doubtnut.com/l/_EOH0s71XHDw2
https://dl.doubtnut.com/l/_xHSI3hR7syjY


428. What happens when

a mixture of  and  is heated?

Watch Video Solution

Cu2O Cu2S

429. A metal M does not liberate hydrogen from acids but

reacts with oxygen to give a black coloured produce.

Identify M and black coloured product and also explain

the reaction M with oxygen.

Watch Video Solution

https://dl.doubtnut.com/l/_xHSI3hR7syjY
https://dl.doubtnut.com/l/_BqC40ViJ2LiA
https://dl.doubtnut.com/l/_cNiHDXYh3hjs

